AVR
- AVR , s ’
<< AVR >>, ,
. , , (
), , SL-AVR
, , AVR ,
AVR << ASM>>
AVR RISC . .
AVR , , 3:
(1) 89 :AT90S1200, :
(2) 90 (O0):Attiny11/12/15/22; 90 =[1+89
(3) 118 (€):AT90S2313/2323/2343/2333,/4414/4433/4434/8515/90S8534/8535
118 =>+900
(4) 121 (4)ATmega603/103; 121 =M+ 118
(5) 130 (3%)ATmegal6l; 130 =fr+121
AVR . AVR

AVR
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AVR 4 — 2
AVR ( ) 118
AT90S2313/2323/2343/2333 ,AT90S4414/4433/4434/8515,AT90S8534/8535
BRCC k C
ADD Rd,Rr BRSH k = SBIPb 110
ADC Rd,Rr BRLO k ( ) | CBIPb I/0
<» ADIW Rdl,K BRMI k LSLRd
SUB Rd,Rr BRPL k LSR Rd
SUBI Rd,Rr BRGE k = ) ROL Rd
SBC Rd,Rr BRLT k ( ) | RORRd
SBCI Rd,K C BRHS k H ASR Rd
<» SBIW Rdl K BRHC k H SWAP Rd
AND Rd,Rr BRTS k T BSET s SREG
ANDI Rd,K BRTC k T BCLR s SREG
OR Rd,Rr BRVS k V BSTRr,b Rr b T
ORI Rd,K BRVC k Vv BLD Rd T Rr b
EOR Rd,Rr BRIE k SEC C
COM Rd BRID k CLC C
NEG Rd SEN N
SBR Rd,K MOV Rd,Rr CLN N
CBRRd,K <» LDI Rd,Rr SEZ z
INCRd 1 <r LD Rd, X X CLz z
DECRd 1 <> LD Rd, X+ X + | SEI [
TST Rd <r LD Rd-X X — | cLl [
CLRRd <+ LD Rd,Y Y SES [
SER Rd FF <r LD Rd,Y+ Y + | CLS S
<r LD Rd-Y Y - | SEV Vv
RIMP k <» LDD Rd,Y+q|Y +q | CLV v
<x IIMP 2 LDRd, Z Z SET T
RCALL k <*LDRd, Z+ |Z + | CLT T
<» ICALL 2) <» LD Rd—~Z Z - | SEH H
RET <»LDDRd, Z+q | Z +q | CLH H
RETI <» LDS Rd,K SRAM NOP
CPSE Rd,Rr <+ STX,Rr X SLEEP
CP Rd,Rr <r ST X+ Rr X + | WDR
CPC Rd,Rr <+ ST =X Rr X - 920
CPI Rd,K < STY Rr Y Attiny11/12/15/22=
SBRC Rr,b < ST Y+ Rr Y + []+89
SBRS Rrb <» ST -Y Rr Y -
SBIC P,b fe) <> STD Y+q ,Rr | Y +q AT9051200
SBISPb I/O STZ .Rr z
BRBS s,k SREG <» ST Z+ Rr z + 118 =
BRBC s,k SREG <» ST -ZRr z - <+ 90
BREQ k < STDZ+q ,Rr | Z +q
BRNE k <» STS k,,Rr SRAM
BRCS k C O LPM
IN Rd,P /10
OUT P, Rdr 110
PUSH Rr
POP Rd,
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AVR 4 — 3
4.1
4.1.1
ASCII
SRAM
) S I | G
20 1 [ 1 1
©))
(4}
[ 1
L] I:; :I ] L] b
Label: .EQU Varl=100 Varl 100 ¢, )
.EQU Var2=200 : Var2 200
test: rjmp test : ! i
Rd: RO~R31 R16~R31 ! Yo
Rr: RO~—R31.
b: I:ON7:I! L]
S: I:ON7:I! n
p: (0~31/63)
K: {0~255! a
k: L a
g (0~~63]s .
4.1.2
hl -] 4.2 L]
1. BYTE—
BYTE SRAM » BYTE
o { CSEG: DSEG
ESEG ). .
: LABEL:. BYTE
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AVR 4 — 4

2. CSEG—
CSEG . :
. BYTE :
= ORG .
CSEG a
:. CSEG
4.2
1 BYTE 10 ESEG E2PROM
2 CSEG 11 EXIT
3 DB 12 INCLUDE
4 DEF 13 LIST
5 DEVICE 14 LISTMAC
6 DSEG 15 MACRO
7 DW 16 NOLIST
8 ENDMACRO 17 ORG
9 EQU 18 SET
3. DB—— E2PROM
DB E2PROM . ' DB
= DB ' - DB
E2PROM . : . 128255
: 8 2 E2PROM . DB
DB n
: LABEL:. DB
4. DEF——
DEF o : ,
:. DEF
5. DEVICE——
DEVICE . :
: . E2PROM
' . DEVICE ' '
.DEVICE AT90S1200 AT90S2313 AT90S4414 AT90S8515
6. DSEG
DSEG . :
. BYTE i ) "
= ORG SRAM = DSEG
.DSEG
7. DW— E2PROM
DW E2PROM 1 : DW
= DW ' = DW
E2PROM . : . 32768~
65 535 . : 16 2 n
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AVR 4 — 5

: LABEL: .DW
8- ENDMACRO
ENDMACRO . . MACRO
.ENDMACRO
9. EQU—
EQU . . EQU
: .EQU =
10. ESEG - E2PROM
ESEG E2PROM . E2PROM & E2PROM
E2PROM .  E2PROM BYTE . E2PROM
. ORG E2PROM . ESEG
.ESEG
11. EXIT—
EXIT . .
EXIT . INCLUDE
EXIT
12- INCLUDE—
INCLUDE . .
EXIT . INCLUDE
. INCLUDE* "
13. LIST—
LIST . .
. . NOLIST .
.LIST
14 LISTMAC—
LISTMAC . . .
.LISTMAC
15. MACRCO
MACRO . MACRO
. . 10 .
@0o~—(@9 . . . ENDMACRO .
LISTMAC . at
-MACRO
16. NOLIST--
NOLIST . .
. LIST
.NOLIST
17. ORG
ORG . . ORG
, SRAM : )
E2PROM & E2PROM . {
P . E2PROM :

http://\WWW.SL.COM.CN



AVR

4 — 6

SRAM

18.

(5]

+ SRAM 321

: .ORG
SET—
SET

(13 ]
(23 SET
(3] EQU
(4} .
. i 3 10, 255
( i: Ox0a,$0a,0xff_$FF
: 0b00001010,0b1M1NNNII

(13 LOW ¢ i

{2} HIGH § )

(3) BYTE2 { ) HIGH
(4) BYTE3 { )

(5) BYTE4 ( )

(6) LWRD {
(7) HWRD {
(8) PAGE {
(9) EXP2 { 24, .
(10} LOG2 | ) LOG2 )

16— 21

o N

3.3a :
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16—~ 31

0~ 31J).

SET

» E2PROM

32



AVR 4 — 7

#4.) BHENETE
Fe & |7 &Lkl iR L]
1| e | T4 | =T WA, RasE0E 0 B o, TRkt ik o MGEE o
2 [ @R - V| —ICIE W, WA IR B A
3 4 - 14 | —~RENT ERELLRAR
4 ik . 17 | ZiftHENE, ATt
5 Bt 13 | ZESENT, Bk OB SHREL el
f i + 12 [ CEEERN. ETRECHR
7 i - 12 | Z#EENS, S EEAREGIIRAR
8 kg | << 11| St EEENS, Rl i s AR
9 Hil > 11 | ZEMERT, EhRslhghilREtadmnn
1w | MF < 10 | ZHMERE EAWHe AR T EOS TSR, UYL, T Ao
1 {hF$H <= 10 | —EWERS, EATTSEAN M TES THASFSRES, WY1, FTM A0
12 | *F > 10 | SHEMENR, EIMNSREAXTEATHERAL. MYy 1, EMY0
13 [KFHF >= 10 | ZHMERR, ERTSEEAXTESTEROWFG AL W%, TWh0
14 ¥F | = = 9 ZHERE FLRE, SR S Rk S T S A, M, WG
15 | 4AHF| | = § | ZHtMERR, AW RALAS TN R, WY 1, E 0
16 | &l & 8 ZHEMERT TR EENS
17 [EeRE A 7 | CSHHERR. ETRELZEARERE
18 | EfaaR | 6 | ZiEEENS, AL EE R
19 | ¥HS| & & 5 “HREENT STAANERS oy L TMY0
20 | EWaE [ 4 ZENEE R, MR EOE R Fo My, S0
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AVR 4 — 8
4.2
: AVR
"\. " I.I'III 0 b
0-31 " 5 { DO~ D4
Rd. 4. 1
Rd  Rra
DO~—~D4 Rd » D5~—D9 Rr Rd a 4, 2
' REGIBTER FILE REGISTER FILE
16 4 15 -] 54 n
[n] d o r d
] d
EL By
4, 1 4, 2
.
AVR 1/0 1/0 o
DO~D5 ’ n 4, 3
1/0
SRAM " ' 16
: Rd/ Rr -
SRAM 64 .4
Z)
SRAM " Y Z DO~DS a
a n a 4,
Date S
1A MEMORY n M1 1 30000
% B opP RriRd
oF - r 18 L3Bs
15 n
=] FFFF
4.3 1/0 4.4
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AVR 4 — 9
AVR XY Z ’ SRAM ,
L] I:X'\ Y Z:I L] 4- 6 L]
e IR o0
1& 1] 135 ]
¥ ORI - REGISTER ’1 X Y OR Z-REGISTER '—
At
18 1o BE [+
[or [ » | o |
SFFFF SFFFF
4.5 4.6
, Y Z 1,
o Al o 4- 7
: XY Z 1.
. . 4. 8
. z
z 15 {0~4K1, YA (DO’
o I:LSB=0:|! H (LSB=1}! H
LPM o 4. 9 .
+-
: JMP. CALL 4.10
H000
16 0 18 0
X, ¥ OR Z - REGISTER X, Y OR X - REGISTER '_
+
+
¥FFFF

4.7

4.8
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AVR 4 — 10

PROGRAM MEMDRY

PROGHAM MEMWORY a 21 20 16 30000
- e oF | 6msss
Z-AEGISTER 18 LSBs
15 o
1 |
§7F
§FFF
4.9 4.10
1 Z o Z
, VA PC , 1JVWP.. 1CALL . 4, 11
1 Kn 1 PC
, . PC+ K

2K {2K—1) : RIMP. RCAL L . 4.12

FROGRAM MEMORY PROGRAM MEMORY

$000 5000

0

2.REGISTER P }—(Li
+
15 11N 0
A . |
$TFR

4.11 4. 12

S$TFF
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AVR

4 — 11

4.3

4.3.1

AVR RISC :

4.3.2

AVR 89-130

-

1/0
{3 ) .
{X=R27,R26:

@

Y, Z:
1/0 .
Q: (6 Ja
3.1/
RAMPX,
SRAM

B A N -

RAMPY: RAMPZ: X. Y. Z

E2PROM ) (

LY - LY

7, 4411 .ASM.

Y=R29,R28; Z=R31,R30’.

' MCU

, 4.4.1
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AVR 4 — 12

tAVR

130

4.4
AVR

4.4.1

FRiT | A0 B A T
(BLD: TEIRBST: REI T) WEH
(H=Rd3 » Rri+Re3+MR3+/MR3 » Rd3) Fit{

(Z=FR7 /R M5 P4+~ M3*/R2+/FEl RO

{C=Rd7 = BxT+Rs7 = RTHRT = RAT)

1
C |

T T Sl v T U7 T
FEEFE

AL (N=RT)

b E (V=Rd7? - Re7 - R7+Rd - Fr - RT)

o & B] 4 3 1 l]
| I [ T [H[S]VINIZ |

=

(=NeV) HiRE

B (U SRTH 7 88 —SREG=300, AN 1L i, FoaFidfe, LRtrE Tmtt, TRhE TFRELHL F
7 6 5 4 3 2 1 0
(1o [T [t Jo Jt [0 [t [T ||reEB
4+ | [Td 1T J0 Jo JT [0 [T [0 |[Rd=CA
c | L1gplo [T [T Jo [1 fo |1 |R=E§
Sed 5|V H ISR/ SREG R
ak H=1,8=1,N=1,C=1
N &
4.4.1
4.4.1
1.
ADD
c : Rek
Rd<Rd+ Rr
ADD Rd,Rr 0=<d=3L, 0=r=3l PC&PC+H1
16 :
10000 |[1lrd [dddd |rrer |
(SREG :
I T H s vV Nz c
[ - -] | o] o] * |2 | « |
H: Rd3 Rr3+Rr3+/R3-+/R3-Rd3 Ne R7

S: N V.

Z: /R7- /R6- /R5- /R4./R3- /R2- /R1- /RO
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AVR 4 — 13

V: Rd7- Rr7./R7+/Rd7-/Rr7-R7 C: Rd7.Rr7+Rr7- /R7+/R7- Rd7
*_ASM , , (
) , -(R16)=%16, ( )
; ;Iglil ml":j:g-:ess-:-r J T 3 _-ngil
R0 = 0=01 R3 = 0x=00 R18 = 0=00 R27 = 0=00
Rl = 0=00 R0 = 0x00 R19 = 0x=00 R26 = 0x00 || Fregeem D=00000001  ¥-Registe [0x0000
RZ = Oz=kd RI11 = 0x02 R20 = 0x00 R29 = 0x00 —_— o
B . Dibl P13 - DiOf BOT - 0o00 B9 - ooy NS 0200000000 | Y-Registe |0=0000
R4 = 0x01 R12 = 0x00 R22 = 0=40 R31 = 0x00 || cpele ono00z0 T-Registe [0x0001
RS = 0=00 R14 = 0x01 R23 = 0=00
R6 = 0x01 R15 = 0x00 R24 = 0x=00 [l o A0 of; |] Time 000 us Frequencs [1.0 Wz
R7 = 0z=00 R16 = 0x00 R25 = 0x00 Flags StopMateh—
RE = 0x00 R17 = 0x00 R26 = 0x00 JUflinf{E|l L T X s ¥ ¥ Z C (Clwl 0,00 s |
) o REIEYE T F U Y :
EFEPeTe—eee
e ( 4411 .ASM) *_ASM, *_.0BJ )
*_ASM, . *_ASM
Idi r16,%$11 ;LDI , 16=d==31
Idi r20,%$22
Idi r28,0XAA ;$,0X
Ip:add rl6. r20 ; ,
; R16,R20
;(R16) = ,(SREG) =
add r28. r28 ; , R28
;(R28) = ,(SREG) =
rjmp Ip ;
Words: 1 { 2 bytes)
Cycles: 1
2.
ADC—
C L] Rdn
Rd=—Rd=+Rr+C
ADC Rd,Rr  0=d=:31, 0=r=31 PC—PC+1
16 :
| 0001 | 11rd | dddd | rerr |
{ SREG :
I T H S V N YA C
| - -l e[ o] o] e« | @ |
H: Rd3- Rr3-+Rr3+-+/R3- Rd3 N: R7
S: N Vs Z: /RA7./Rr7./Rr7- /R7./R7- /Rd7
V: Rd7- Rr7./R7./Rd7- /Rr7-R7 C: RA7.Rr7+Rr7- /R7+/R7- Rd7
. ( 4412 . ASM) *_ASM, *_.0BJ )
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AVR 4 — 14

*_ASM, , *_ASM

Idi r20,$77 ; LDI , 16=d=31

Idi r21,$99

LDl R22,0X77

LDI R23,0X11
Ip:add r22. r20 ;(r22) = ,(SREG) =

ADC R23, R21 ; , R23,R21
;(R23) = ,(SREG) =
rjmp Ip ;

Words: 1 (2 bytes!]
CyCICS: |

ADIW—
{0~—63) :

: Rdh:Rdl <Rdh:RdI+K

ADIW Rdl. K dE{ 24 26 28 30 }» UJ PCEPC+H 1
16 :
| 1001 | 0110 | KKdd | KKKK |

{ SREG)
I T H S v N Z C
[ -l -] -JTele]e] ] *|
S: NV
V: Rdh7-R15
N: R15
Z: /R15- /R14- /R13- /R12- /R11- /R10- /R9- /R8- /R7- /R6- /R5- /R4- /R3- /R2- /R1- /RO
C: /R15- Rdh7
: ( 4413.ASM) *_ASM, *_0BJ ,
*_ASM, , *_ASM
Ip:adiw r24, 1 ; , R24
ADIW R30, 63 ; , R30
rjmp Ip ;
WordS: 11( 2 bytes)
Cycles: 2
4. 1
INC— 1
: Rd 1 Rd . SREG C ,
INC . : BREQ( )
BRNE ( ) - : -
Rd&Rd+ 1
INC Rd 0=d=31 PC&PCH+ 1
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AVR 4 — 15

16 :
| 1000 [010d |dddd |0011 |

i SREG)
[ T H S Vv N Z C
[ -[ -] -JTele]le] ] ]
S: NV N: R7
V: R7-/R6-/RS-/R4-/R3- /R2- /RI- /RO Z /R7- /R6- /R5- /R4- /R3-/R2- /R1- /RO
: ( 4414 .ASM)
clr r22 ; R22
loop:inc r22 7+, , R22
loopl:INC R22
cpi r22,%04 ;(R22) $04
brng loopl ; , ( Z )
rjmp loop ;
Word: I ¢ 2 bytes!
Cycles: 1
4.4.2
1.
SUB
: : Rd
: Rd€<Rd—Rr
SUB Rd,Rr 0==d=31. 0=r=31 PC&PC+1
16
| 0001 [1ird [dddd | rrrr |
{ SREGJ
| T H S v N VA C
[ -l -JTeleoe]le]lo] e @ |
H: /Rd3- Rr3-+Rr3: R3+R3- /Rd3 N: R7
S: NV Z: /R7- /R6- /R5- /R4- /Rr3- /R2- /R1- /RO
V: Rd7- /Rr7- /R7T+/Rd7- Rr7- R7 C: /Rd7- Rr7+4Rr7-R7+R7- /Rd7
: ( 4421 . ASM)
loopl: Idi r23,%$44 ;
Idi r22,$11 ;
loop: sub r23,r22 ; ) ,
; R23,R22
brne loop ;r23 o , O

rjmp loopl ;
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AVR 4 — 16

Words: 102 bytes!
Cycles:

[SN

SUBI—
: : Rda R16 R31
XY Z

: Rd<-Rd—k

SUBI Rd,K 16=d=31, 0= k=255 PC&PCH |
16 :

| 0201 [ kkkk |dddd [ kkkk |

{ SREG )
I T H s vV N 7 c
-l -[ele]e]e] *] *]

H: /Rd3- K3-+K3- R3+R3- /Rd3 N: R7
SNV Z: /R7- /R6- /R5- /R4- /Rr3- /R2- /R1- /RO
V: Rd7- /K7- /R7+/Rd7- K7- R7 C:  /Rd7-Rr7+Rr7-R7+R7- Rd7
: ( 4422 .ASM)
LOOP: LDI R22, $55
LOOP1: SUBI R22 , $11 , R22
BRNE  LOOP1 ; 0O , O
RIMP  LOOP ;
Words: 142 bytes!
Cycles: 1

SBC—

H C 1 Rd o
: RA<Rd—Rr—C

SBC Rd Rr 0=d=31. 0O=r=31 PC&PC+ 1
16

|oooo |10rd |dddd |rrrr |

{ SREG

H:  /Rd3-Rr3+Rr3- R3-+R3: /Rd3 N: RY7
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AVR

4 — 17

S:
V:

NV

= (
LDI R22,$80 ;

LDI R20,$80  ;(R20)=$80

LDI R23,$23  ;(R23)=$23

LDI R21,$11  ;(R21)=$11

ADD R22,R20  ;(R22)=$00,C=1
:SBC R23,R21  ;

4423 .ASM)
LP:

LP1 ;
;(R23)-(R21)-(0)=
CPI R23,$00  ;R23
BRNE LP1 ;R23
RIVP LP ;

0

WOrds:
Cycles:

1 12 byteS)
1

SBCl—
C
Rd<Rd— K— C

SBCI Rd K 16=d=

16

31

| 0100 [ KKKK |[dddd | KKKK |

{ SRE}

Rd7- /Rr7- /R7+ /Rd7- Rr7- R7

(R22)=$80

0==K=255

Z: /R7-/R6-/R5-/R4- /R3- /R2: /R1- /RO.Z
C: /Rd7: Rr7+Rr7- R7+R7- /Rd7

R23,R21

Rd

PC&PCH1

H: /Rd3- K3+K3- R3+R3- /Rd3
S: N V
V: Rd7- /K7 /R7+/Rd7- K7- R7
. ( 4424 .ASM)
LP:SEC :(0)=1
LDI  R16,$44 :(R16)=$44
SUBI  R16,$22  ;(R16)
LP1:SBCI  R16, $11  ;

:(R16)-$11-1

CP1
BRNE
RJIMP

R16,$00 : R16
LP1 ;(R16) O
LP ;

Words:
Cycles:

1 12 bytes)
1

R7
Z: /R7- /R6- /R5- /R4- /R3- /R2- /R1- /RO- Z
C: /Rd7- K7+K7- R7+R7- /Rd7

$22

, R16

$00
, 0
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AVR 4 — 18

SBIW—
{0~~63) .

: Rdh : RdI<Rdh:RdI-K

SBIW Rdl: K dIE{24,26, 28,30}, 0=K=63 PC&PCH 1
16 :
| 1000 [ 0111 [KKkdd |KKKK |

(SREG ) :
I T H S v N z C
L - -1=T[e |® | [& [& |

S: NV V: Rdh7-/R15 N: R15  C: R15-/Rdh7
Z: /R15- /R14- /R13- /R12- /R11- /R10- /R9- /R8: /R7- /R6- /R5- /R4- /R3- /R2- /R1- /RO- Z

: ( 4425 . ASM)
LP:LDI R24,5 ; ) 16=5R=:31

LDI R28,63 ;5,63 ) OX3F

shiw r24,1 ;
sbiw r28,60 ;60
RIMP LP :

Words: 11 2 bytes!

Cycles: 1
6. 1

DEC 1
: Rd 1 Rd . SREG C

DEC . : BREQ(

BRNE ( ) - : .
: Rd€Rd—I

DEC Rd 0=d=31 PC&PC 1

16

| 1000 [o010d |dddd |1010 |

( SREG :
I T H S v N z C
L - -1—=T[e |® |& [ [& |
S NV N: R7
V: /R7-R6- R5-R4- R3- R2-R1- RO Z: /R7-/R6- /R5- /R4 /R3- /R2- /R1. /RO
: ( 4426 .ASM)
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AVR 4 — 19

LP: LDl R16,$04 ; -1,
LOOP: DEC R16 ; , R16
:(R16)-1
BRNE LOOP  ;(R16) 0O , O
DEC R16 ; ((R16)=$00)-1=$FF
BRNE LP ;(R16) o , 0
RET ;
Words: I © 2 byteS!
Cycles: 1
4.4.3
- AVR ATmegal6l  AtmeglO3L
MUL
: 8 X8 > 16 . Rr Rd
- 16 R1 ¢ I ROE 1. . RO RI1,
R1: RO€Rr*Rd
MUL Rd, Rr 0=2d=31. 0=r=31 PC&PC+ 1
16

| 0001 | 11rd | dddd | rrer |

{ SREG!
| T H S v N z C
-l -l == 1= = [= 1% |
C: Ri15
: ( 4431.ASM, *.inc, )
Ip: Idi r6,%04
Idi r5,#05
mul r6,r5 ;
mov r5,rl ;
mov r5,r0 ;
rjmp 1Ip
Words: 1 { 2 byteS!
Cycles: 2
4.4.4
CoM ——
Rd a
RA<$FF — Rd
COM Rd 0=d=31 PC&PCt 1
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AVR 4 — 20

16

| 1001 [010d |dddd |0000 |

{ SREG
I T H S \ N Z C
T T -—T*Jolele]1]
S: N V Z: /R7./R6./R5./R4./R3./R2./R1./R0
V: 0 G 1
N: R7
: ( 4441 .ASM)
Ip:ldi R24,$AA
com r24 ;
cpi r24,%aa ;(r24) %aa ?
breq Ipl
Ip1:COM R24 ;
cpi r24,%aa ;(r24) $%aa ?
breq Ip ; ,
BREQ LP
Words: 110 2 bytes!
Cycles: 1
4_.4.5
NEG—
: Rd » $80
: R<$00—Rd
NEG Rd 0=d=31 PC&PC+ 1
16 :
| 1000 |010d |dddd | o001 |
{ SREG
| T H S V N Z C
I 2 O B
H: R3./Rd3 N:  R7
S: N V Z: /R7./R6./R5./R4./R3./R2.R1./R0
V: R7./R6./R5./R4./R3./R2./R1./RO C: R7+ R6+ R5+ R4+ R3+ R2+ R1+ RO
: ( 4451 .ASM)

LP: SUB RLL,RO ;
: (rl1)=0b1010101=$AA  (r0)=0b10011001=$99
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AVR 4 — 21
BRPL LP1  ;(rll)
LP1: NEG R11
BRMI LP  ;(rll)
Words: 11{ 2 bytes)
Cycles: 1
4.4.6
1.
CcP—
: Rd Rr ,
Rd—Rr
CP Rd Rr 0==d=31. 0=r=31 PC&PCH 1
16 :
| 1001 [o0ird |[dddd |rrrr |
{ SREG :
[ -[ -lTele]les]le] o] ]
H: /Rd3.Rr3+Rr3.R3+R3./Rd3 \ R7
S: N V Z: Rd7.Rr7.Rr7.R7+ R7.Rd7
V: Rd7./Rd7./R7+/Rd7.Rr7.R7 C:  /Rd7.Rr7+Rr7.R7+R7./Rd7
: ( 4461 .ASM)
Ip:cp r24,r19 ; ;
; 1(r24)=%AA (r19)=%55
; 1(r14)=$11 (r19)=$55
brsh Ipl ;(r24)=(r19) Ipl, (r24) (r19)
rjmp Ip2 ;
Ipl:sub r24,rl19 ;(r2d) (r19)
brne Ip ;(r2d) 0o , O
Ip2:adiw r24,$11 ; d={ 24 26 28 30 }» 0=K=63
rjmp Ip ;
Words: 172 bytes!
CyCICS: 2
2.
CPC
Rd Rr .
Rd—Rr—C
CPC Rd Rr 0=d=31, 0=r=:31 PC&PC+1
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AVR 4 — 22

16

| 0000 [o0ird |[dddd | rrrr |

{ SREG
[ T H S Vv N YA C
[ -l -[elele]e] =] |
H: /Rd3 * Rr3+Rr3= R3+R3 = /Rd3 N: R7
S: NV Z: /R7=/R6 R5=R4=R3=R2= R1=R0=-Z
V: Rd7 * /Rr7 = /R7+/Rd7 = Rr7 = R7 C: /Rd7 = Rr7+Rr7 = R7+R7 = /Rd7
: ( 4462 .ASM)
cp r2,r0 ; ,
; 1(R2)=%AA, (R0O)=$55
Ip:sec ;(0)=1
cpc r3,rl : :(r3)=%$11, (r1)=%10,
; : :(R3)=%12, (R1)=%10,
brne Ipl ; ,
rjmp Ip2 ;
Ipl:inc r1 ;+1
rjmp Ip
Ip2:dec rl -1
rjmp Ip ;
words: 1¢2 bytes)
Cycles: |
3.
CPI—
: Rd .
CPI Rd, K 16-=d=31. 0= K=255 PC&PCH 1
16 :
| 0011 | KKKK | dddd | KKKK |
{ SREG)
1 T H S \ N VA C
[ -[ -lTele]les]le] o] ]

H: /Rd3 * K3+K3 = R3+R3 = /Rd3 N: R7
S: NV Z: /R7=-/R6=/R5= /R4~ /R3+/R2-/R1= /RO

V: Rd7 = /K7 = /R7T+/Rd7 = K7 = R7 C: /Rd7 = K7+K7 = R7+R7 = /Rd7
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4 — 23

AVR
: ( 4463 .ASM)
LP:CP1  R19,3 ; ,
;o (R19)=4
BRNE LP1 ; ,
INC R19 ;(R19)+1
RIMP LP ;
LP1:DEC R19 ;(R19)-1
RIMP LP ;
Words: 1{ 2 bytes!
Cycles: 1
4.4 .7
A B Y
L L L
L H L
H L L
H H H
1.
AND ;1 1, 0 O,
: Rd Rr , Rd.
o0, 0, O ; , 1 ;
: RdERd = Rr ;
AND Rd,Rr 0=d=31 O0=d=31 PC&PC+1
16 :

| 0010 | 00rd | dddd | reer |

{ SREG?
| T H S v N Z C
| -l - v]le]le]le] e]| =]
S: N V N: R7
V: O Z: /R7- /R6- /R5- /R4- /R3- /R2- /R1- /RO
: ( 4471 .ASM)
LP:add r2,r3 ; ,
;  :(R2)=0B1000 0000, (R3)=0B0001 0011
LDI R16,1 ; (R16)=0B0000 0001,
and r2,ri16 ;(R2)=
RIMP LP :

Words: 1¢2 bytes)
Cycles: 1

http://\WWW.SL.COM.CN



AVR 4 — 24

2.
ANDI— ;01 1, 0 O
: Rd 1 Rd.
: 0, 0, O ; , 1 ;
: RA<Rd- K ;
ANDI Rd K 16=d==31. 0=K=255 PC&PC+ 1
16 :

looor |[11rd |[dddd | rrrr |

{ SREG
I T H S v N z c
L -l - =l e]lo ] ] —|
S:N vV N:  R7
V:0 Z:  /R7- /R6- /RS /R4 /R3 /R2- /R1- /RO
: ( 4472 .ASM)

LP: andi rl17,$0F ; ,
;. 1(r1n=$F0 ,(R18)=$EF ,(R19)=$FF, ,(R17)=
andi  ri18,$10 ;(R18)=

andi  r19,$AA ;(R19)=

RIMP LP ;

Words: I ©2 bytes:
Cycles: 1

CBR—
: Rd . Rd K
L Rd -]
Rd<Rd = ($FF—K)

CBR Rd K 16=2d=31, 0=K=:255 PC&PCH1
16 :

|0111 |KKKK |dddd |KKKK |

{ SREG

s
[ -l -l —-lelo]e] ][~ |
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AVR

4 — 25

V: 0 Z: /R7-/R6-/R5- /R4- /R3- /R2- /R1- /RO
: ( 4473.ASM)
Ip:cbr R16,$F0 ; )
; (r16)=$FF
CBR R18,1 ;(r18)=$80
INC R16
INC R18
rjmp Ip ;
Words: 1 ©2 bytes]
Cycles: 1
TST
: Rd<Rd Rd
TST Rd 0=d=31 PC&PCHL
16

| 0011 [00dd |dddd |dddd |

{ SREGJ
I T H S v N Z C
-l - —JTelo o] ] —|
S: NV N: R7
V:0 Z: /R7- /R6- /RS- /R4- /R3- /R2- /R1- /RO
: ( 4474 ASM)
sub r0,r2 ; ,
; SREG
;(r0)=$aa, (r2)=%aa
;(r0)=3%77,(r2)=$80
Ip: tst rn ; ro s
breq Ipl ; (04 1, , O
dec r0 ;-1
rjmp Ip ;
Ipl:inc r0 ;+1
rjmp Ip ;
Words: 1462 bytes!
Cycles: 1
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4 — 26

AVR
4.4.8
A B Y
L L L
L H H
H L H
H H H
1.
OR ;01 1, 0 O,
, 1, 1 ; , 0 :
Rd Rr ’ Rd
Rd<Rd * Rr
OR Rd Rr 0=d=31: 0O=r=31 PC&PCt 1
16
| 0010 |[10ord [dddd |rrrr |
{ SREG ) :
| T H S v N Z C
[~ - —[=Jol=®[>]—]
S: NV N: R7
V: 0 Z: /R7-/R6- /R5- /R4 /R3: /R2- /R1- /RO
e ( 4481 .ASM)
or rlo,rl6 ; ; )
:(R19)=$ , (R16)=$44 , (R18)=0B0100 1111=$4F
: (R18)=0B0000 1111=$0F
LP:bst ri18,6 ;R18 6 SREG T , SREG T
brts ok ;SREG 1 , O
SER R18 ; R18
RIVMP LP ;
ok:CLR R18 ; R18
RIVMP LP ;
Words: I (2 bytes?
Cycles: 1
2.
ORI— - « ) ( 1)
H Rd ] Rd
Rd€Rd*/ K
ORI Rd K 16=d==31, 0==K=:255 PC&PCt 1
16
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| 0110 | KKKK |dddd | KKKK |

{ SREG! :
| T H S v N z C
-l -l =]l®]Jo]e] ] =]
S:N V N: R7
Vi O Z: /R7-/R6- /R5- /R4- /R3- /R2- /R1. /RO
: ( 4482 . ASM)
LP:ori ri19,$F0 ; , )
;(R19)=3%A0 , (R17)=%$45
;(R19)=0B0110 1111=$6F , (R17)=0B1111 0000=$FO
ori rl7,1 ;
Isl ri19 ;rl9
Isr ri7 ;rl7
RIMP LP ;
Words: 142 bytes!
Cycles: 1
3.
SBR—
: Rd o Rd K
LORI}, Rd.
Rd€Rd “/K
p95
SBR Rd K 16=d==31. 0-=K=255 PC&PC+1
16

| 0110 | KKKK | dddd | KKKK |

{ SREG :
| T H S v N z c
-l - =]e]lo]e] ] —|
St N V N: R7
V: 0 Z: /R7-/R6. /R5. /RA4. /R3. /R2. /R1. /RO
. ( 4483.ASM)
. :(R16)=$F0  ,(R17)=$80
Ip:sbr r16,3 ; R16 (0B0O0OO 0011) 1. O 1, (R16 )=
sbr r17,$17 ; R17 (0BOOOL 0111) 4. 2. 1. O 1, (R17)=
INC R16 -+1
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AVR 4 — 28
DEC R17 ;-1
rjmp Ip ;
Words: 1¢2 bytes!
Cycles: 1
4.
SER—
$FF Rd.
RA<$FF
SER Rd 16==d=31 PC&PCH 1
16
| 1110 [1111 [dddd | 1111 |
{ SREG :
| T H S V N Z C
: ( 4484 .ASM)
LP:CLR R16 ; (R16)
ser rl7 ;(R17)  $FF
out $18,r16 ; B , 1/0 $18
out $18,r17 ; B , 1/0 $18
INC R16 i+l
INC R17 i+l
RIMP LP ;
Words: 1©2 bytes)
Cycles: 1
4.-4_.9
1.
FOR— ; 0, 1; C ) ¢ s
Rd Rr , Rd.
A B Y
L L L
L H H
H L H
H H L
Rd<Rd Rr
EOR Rd,Rr 0=d==31, 0=r=31 PC&PC+ 1
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16 :
| 0010 |olrd [dddd |rrrr |

{ SREG! :
I T H S v N z C
L =l =] —Je J o[ e ] ] —|
S: NV N: R7
V:0 Z: /R7- /R6- /R5: /R4 /R3- /R2- /R1- /RO
: ( 4491 .ASM)

LPzeor r4,r4 ;  :(R4)=0B1010 0011, ,
eor r0,r22 ; :(R0O)=0B1010 0101 :(R22)=0B0101 0011

SWAP R4 ;
SWAP RO ;
SWAP R22 ;
RIMP LP ;
Words: 1 2 bytes!
Cycles: 1
2.
CLR—
: Rd
Rd<Rd Rd
CLR Rd 0=d=31 PC&PC+ 1
16 :
| 0001 | 11rd | dddd | rrrr |
{ SREG :
1 T H S V N Z C
T -] —TJToJloJoli]—]
S: 0 N: O
V: 0 Z: 1
: ( 4492 .ASM)
LP:CLR R18 ;R18
Lpl:inc rl8 ;41
CPI R18,%05 ;R18
brne Ipl ; ,
RIMP LP ;
Words: 11 2  bytes!
Cycles: 1
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AVR 4 — 30
4. 5
4.5-1
1.
RIMP
: PC —2K PCH+2K { 1 a ’
= AVR 4K (8K iR
PC+1 —2K=k =2K !
PC& (PCH1)+ k
RIMP  k —2K=k=2K PC&(PCH+1)+k s
16 : e
FPLC+1| RIMP | |
(1100 [kkkk | kikk | kkkk | il
+ 2K
{ SREG : o
| T H S v N z C
: ( 4511 .ASM)
.ORG 0X0010
LP:cpi rl6,%$42 ;. t(R16)=%$42
brne LP2 ; s
rjmp LP1 ; +2K
LP2:ADD R16,R17
inc rl6
.ORG $080F ;ORG  $0810, -2K,0RG  $080F -2K
; PC+1($080F+1=$0810), $0010 $0810 -2K
;  PC+1($0810+1=$0811), $0010 $0811 -2K,
LP1:RIMP LP ; ORG  $0810 ,
;. RIMP : ( ) , .
PC&(PCH+1)+k
Words: 10 2 bytes)
Cycles: 2
2.
IIMP—
: Zi16 ) 4
16 : 64K (128K i
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AVR 4 — 31
1IMP— : , : , ,
1 1
, ?
: PC&Z (15—0!
PC (15-0) «Z {15—0J
1IMP None See OPeration
16
| 1001|0100 | xxxx | 1001 |
{ SREGJ :
| T H S v N VA C
: ( 4512 ASM)
ORG $0010
LP:MOV R30,R0 ; (RO) Z 8 ,R30  Z 8
MOV R31,R1  ; (R1) Z 8 ,R3L 7 8
ijmp ; Z
.ORG $0200
LDl R20,$11 ;  $0201 ,  (R0O)=$01,(R1)=02, 1JVP
LDl R21,$22 ;  $0202 ,  (R0)=$02,(R1)=02, 1JVP
LDI R22,$33 ;  $0203 ,  (R0)=$03,(R1)=02, 1JVP
LDI R23,$44 ;  $0204 ,  (R0O)=$04,(R1)=02, 1IVP
LDI R24,$55 ;  $0205 ,  (R0)=$05,(R1)=02, 1IVP
LDl R25,$66 ;  $0206 ,  (R0)=$06,(R1)=02, 1JVP
1JVP ; $0207 ,  (RO)=$07,(R1)=02, 1JVP
; Z
Words: 10 2 bytes)
Cycles: 1
3.
IMP—
: 4M D , RIMP.
IMP— : am o) ;
: !
: PC&k
JMP k 0=k = 4M PC&k
32
| 1001 | 010k | kkkk | 110k |
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AVR 4 — 32

| kkkk | kkkk | kkkk | kkkk |

{SREG ) :
| T H S Vv N Z C
-l -l -] -7 -1T-] =17 =]
: ( 4513.ASM)
.equ Ip1=$0f00
Ip:mov rO,r1 ; (rl)=12
Jmp 1p2 ;
;AT90S8515  AVR ,
; AVR  MEG103
.org $0f00
Ip2:swap r0 ;
Jmp Ip ;
Words: 2 {4 bytes!
Cycles: 3
4.5.2
1.
BRBS — SREG
: , SREG , ,
PC : PC —64= =PC+63.

If SREG(S)=1 then PC&(PC+1)+k,else PC&PC 1

BRBS S. k 0= S= 7 —64= k=463 PC&(PC+ 1)+ k

PCEPCH |
16
| 1111 | 00kk | kkkk | ksss |
( SREG) :
I T H s v Nz c
Y N I I
e ( 4521 ASM)
LP:bst r0,3  ; :(R0)=0BOO0O 1000;R0 3 SREG T
. :(R0)=0B0100 0100;R0 3  SREG T
brbs 6,LP1 . SREG 6 (T=1) ,
SET ;T 1
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RIMP LP ;
LP1:CLT ;T
RIMP LP ;
Words: 1 2 bytes!
Cycles: I if condition is false

2 if conditlon is true

BRBC——SREG
: , SREG , , PC ;
PC : PC— 64= = PC+ 63. K PC ,

If SREG(S)=0 then PC&(PC+1)+k,else PC&PC 1

BRBC S: k 0=S = 7 , -64=k=+63 PC&(PC+1)+ k

PC&PCH |
16
| 1111 | O0kk | kkkk | K001 |
{ SRE} :
| T H S Vv N Z C
: ( 4522 . ASM)

CPI R20,5 :R20 05 , (R20)=6 (R20)=5
LP:BRBC 1,LP1 ;SREG , 1

CLZ

RIMP LP ;

LP1:SEZ ;Z=1

RIMP LP ;

Words: I © 2 Dbytes)

Cycles: 1 if condition is fTalse

2 if condition is true
3.
BREQ
: . (Z), Z . PC
CP. CPI. SUB  SUBI ’ Rd
Rr H , u PC

1pC—64= = PC+63. K pC ' 2 [ BRBSI.
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AVR
Kla
If RA=Rr(z=1)then PC&(PC  1)+k. PCEPC 1
BREQ k -64= k=163 PC&(PC+ D+ k
PC&PCH+ 1
16
| 1121 [o0kk | kkkk | kool |
{ SRE}
| T H S v N VA C
: ( 4523 . ASM)
Ip:cp ri,r2 ;o D(RL)=$AA. (R2)=$AA
breq Ipl ; , ) z
inc rl ;+1
rjmp Ip ;
Ipl:dec rl ;-1
rjmp Ip ;
Words: 102 bytes!
Cycles: I if condition is fslse

2 if condition 1is true

4.
BRNE—
: : (), z : PC
CPI. SUB  SUBI ; Rd
Rr ; . PC
= =PC+ 63 K PC .2 ( BRBC 1K)
»  If Rd&=Rr(Z=0) then PC&(PC+1)+k: elesPC&PC+1
BRNE  k —64= k =+63 PCE(PCH1)+ k
PC&PC+HI
16
| 1111 | 01kk | kkkk | kool |
( SREG) ‘e
1T H S v N z c
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AVR 4 — 35

: 4524.ASlly CP,CPI.SUB,SUBI 4= 444 +7 1534
Ipscp rl,r2 ; :(RL)=$AB.(R2)=$AA \ﬁBRNE S AR T A
brne Ipl ; , , 7
inc rl 1+l PC+1
rjmp Ip ;

Ipl:dec rl |
rjmp Ip ;

Words: 1 {2bytes!
Cycles: 1 if condition is false
2 if condition is true

5. C
BRCS-
: . {Ch C . PC .
PC : PC —64=  ==PC+63. K PC y 2 {
BRBS 0: KJa
: ITC=1 then PC&(PC+1)+k: eles PC&PCH 1 J, BRCS
: : : PC+1
BRCS k  —64= k =463 PC& (PCH1)+k
PC&PCH1
16
| 1111 | Ookk | kkkk | K000 |
{ SREG)
| T H S Vv N Z
: ( 4525 . ASM)
SEC ;C=1, C
LP:BRCS LP1  ;C=1 ,C=0
SEC ;C=1
RIMP LP :
LP1:CLC ;C=0
RIMP LP ;
Words: 1102 Dbytes)
Cycles: I if condition is false

2 if condition is true

BRCC—
H L) I: C:I L] C L) PC
PC : PC —64= =PC+63. K PC , 2
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AVR 4 — 36

! BRBC 0. K.
If C= 0 then PC&(PCH1)+k: eles PC&PCH+1
BRCC k —64= k =+63 PC&(PCH1)+k
PC&PCHI
16

| 1121 [o01kk | kkkk | k000 |

{ SREG :
| T H S V N Z C
| -l -1 -1-=-1-=-1=1 =1

: ( 4526.ASM)
CLC ;C=0, C

LP:BRCC LP1 ;C=0 ,C=1
CLC ;C=0
RIMP LP ;

LP1:SEC ;C=0
RIMP LP ;

Words: 1 (2 bytes!
Cycles: 1 1if condition is false

2 if condition Is true

7.
BRSH- it i
H 1 {C:I! C 1 PC o
CP- CPI. SUB  SUBI , Rd
Rr , n PC : PC —64=
=PC+63. K PC : 2 ! BRBS 0. Ki.

If Rd=Rr(C=0)then PC&(PC+1)+k: eles PC&PCH1

BRSH k  -64= k =+63 PC&(PCH1)+ k
PC&PC+ |
16 :
| 1111 |oikk | kkkk | K000 |

{ SREG ) :
| T H S v N Z C
I N N N
: ( 4527 .ASM)
Ip:subi r19,2 ; , :(r19)=1
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AVR 4 — 37

brsh 1pl ; , . C
inc r19 ;(r19)+1 CP,CPI,SUB.SUBI -4 4 7 5 4
inc ri9 j BRSH
inc rl9
rjmp Ip ; PC+1
Ipl:inc rl19 ;(r19)+1
rjmp Ip ;
Words: 1t2 bytes!
Cycles: I if condition is false
2 if condition is true
3
8.
BRLO ! )
H L] I:C:I! C L] PC L]
CP. CPI. SUB  SUBI , Rd
Rr , . PC : PC —64=
=PC+63. K PC , 2 { BRBS 0 Kl
If Rd<< Rr(C=1)then PC&(PC+1)+k: eles PC&PC+1
BRLO k -64=k =+ 63 PCE(PCH+1)+ k
PC&PC+ 1
16

| 1111 | o0kk | kkkk |kooo |

{ SREG? :
| T H S v N z C
= N N N N N
: ( 4528.ASM)
Ip:subi r19,2 ; , -(r19)=2
brio Ipl ; , ,
: C
inc rl9 ;(r19)-1
rjmp Ip : CP,CPI,SUB,SUBI 3 4 4 775 I
Ipl:inc rl19 ;(r19o)+1 BRLO
inc rl9 PC+1
inc rl9
inc ril9
rjmp Ip ;
Words: 1102 bytes!
Cycles: I if condition is Talse

2 if condition is true
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AVR
9.
BRMI—
: : (N, N : PC
PC i PC— 64= =PC+ 63. K PC ,
BRBS 2. K.
If N=I then PC&(PC+1)+ k: eles PC&PC+1
BRMI k —64= k =+63 PC&(PCH1)+ k
PC&PCHI
16
| 1121 [o00kk | kkkk | K010 |
{ SREG
I T H S Vv N Z
- -1l -[T-1-1-=17 =]
: ( 4529 .ASM)
Ip:subi r18,2 ; , -(rig)=2
brmi Ipl ; N=1, N=0
; N
inc rl8 ;(r1d)+1
rjmp Ip ;
Ipl:inc ri8 ;(rig)+1
inc rl8
inc ri8
inc rl8
rjmp Ip ;
Words: 12 bytes!
Cycles: I if cocdition is false
2 if condition 1is true
10.
BRPL
, CNJ, N , PC
PC— 64= =PC+ 63. K PC , 2
BRBC 2: Kia
If N= 0 then PC&(PC 1)+ k= eles PC&PCH 1
BRPL k -64=k=1+63 PC&(PCHD+ k
PC&PCHI
16

| 1111 |01k | kkkk | K010 |

{ SREJ
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I T H S Vv N Z C
: ( 45210.ASM)
Ip:subi r18,2 ; , -(rl8)=2
BRPL Ipl ; N=0, N=1 N
inc rl8 ;(rid)+1
inc ri8 \LBRPL
inc ri8
+
inc rl8 PC+1
rjmp Ip ;
Ipl:dec rl8 ;(rid)+1
dec ri8
rjmp Ip ;
PC+1+K
positive: nop \l/
Words: 1 {2 bytes) CP.CPL,SUB SUBI 47 444 775 4
Cycles: 1 if condition 1is false BRGE
2 if condition is true PC+1
11.
BRGE— { i
: , (Sl S
: PC . CP- CPI. SUB  SUBI
: Rd
Rr : .
PC : PC —64= =PC+63. K
PC , 2 ! BRBC 4: Kia
If Rd=Rr (N V= 0) then PC&(PC+1)+k: eles PC&PC+1
BRGE k —64= k =163 PC&(PCH1)+ k
PC&PC+
16
| 1121 [ 01kk | kkkk | K100 |
{ SREGJ :
I T H S Vv N Z C
: ( 45211.ASM)
Ip:subi r18,2 ; , -(rig8)=2
brge Ipl ; S=0, S=1 S
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AVR 4 — 40
inc ri8 ;(r1g)+1
inc rl8
inc rl8
inc rl8
rjmp Ip ;
Ipl:dec r18 ;(r1g)+1
dec ri8
rjmp Ip ;
Words: I {2 bytes!
Cycles: I if condition is false
2 if condition is true
12.
BRLT— { i
: , {Sh S o PC .
CP-. CPI. SUB  SuBI , Rd
Rr , PC : PC —64=
=PC+63. K PC : 2 ! BRBS 4 Kl

If Rd< Rf (N V=1)then PC&(PCH+1)+k, eles PC&PCH1

BRLT k -64= k =163

CP,CPI,.SUB SUBI §f; 44t 175 %1

PC&(PCH1)+ k BRLT
PC&PC+1
16
| 1111 | ookk | kkkk | k100 |
{ SREG )
| T H S v N z C
: ( 45212 .ASM)
Ip:subi r18,2 ; , -(r1g)=2
brit Ipl : S=0, S=1 S
inc rl8 ;(rig)+1
inc ri8
inc rl8
inc rl8
rjmp Ip ;
Ipl:dec r18 ;(r18)-1
dec r18
rjmp Ip ;
Words: 102 bytes!
Cycles: I if condition is false
2 if conditlon 1is true
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13.
BRHS--
: : (H), H : PC
PC : PC —64=  =PC+63. K PC , 2
( BRBS 5. KJ.
If H=Ithen PC&(PCHD)+k,  eles PCEPCH1

BRHS k —64= k =-+63 PC&(PCH1)+ k

PC&PC+ |
16
| 1111 [ 00Kk | kkikk | k101 |
{ SREG :
| T H S v N YA C
: ( 45213 .ASM)
Ip:add ri10,rll ‘
; :(r10)=5 ,(r11)=5 ,(r12)=5
brhs 1Ipl ; (H)=1
;(H)=0
dec r10 ;(R10)-1
dec r10
rjmp Ip ;
Ipl:add r10,r12 ;
rjmp Ip ;
Words: 1 (2 bytes!
Cycles: I if condition is false

2 1f condition ils true

14.

BRHC—
: , (HI H , PC -

PC : PC— 64= =PC+ 63. K PC , 2 i
BRBC 5 Kia

If H=0 then PC&(PCtH1)+ks eles PC&PC+ 1
BRHC k -64= k =-+ 63 PC&(PC+ 1)+ k
PC&PCH |
16

| 1111 | 01Kk |.kkkk | k101 |
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AVR 4 — 42

{ SREG) :
S B I e e
¢ ( 45214 ASM)
Ip:add ri10,rl11 ; :(r10)=5 ,(r11)=5 ,(r12)=5
brhc 1Ipl ; (H)=0 ,(H)=1
dec ri10 ; (R10)-1
dec r10
rjmp Ip ;
Ipl:add r10,r12 ;
rjmp Ip ;
Words: I © 2 bytes!
Cycles: I if condition is false
2 if conditlon is true
15. T
BRTS—T
: : T : T : PC . PC
PC—64+= #=PC+63. K PC , 2 { BRBS
6, Kl
:If T=1 then PC&(PCH1)+k. eles PC&PCH1
BRTS k -64= k =63 PC&(PCH+1)+ k
PC&PCH1
16
| 1111 | 00kk | kkkk | k110 |
{ SREJ :
| T H S \ N Z C
-l -l -] -7 -1T-] =17 =]
. ( 45215 ASM)
Ip:bst r3,5 ;R3 5 SREG T . (R3)=%AA
brts LP1 ;(M=1 ,(M=0
rol r3 ;r3
rjmp Ip ;
LP1:rol r3 ;r3
rjmp Ip ;
Words: 112 bytes!
Cycles : 1 if condition is false

2 if conditlon 1is true
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AVR 4 — 43
16. T
BRTC—T
: , T , T , PC - PC
PC—64= = PC+63. K PC 2 { BRBC
6: Kl
I fT=0thenPC& (PCH+1)+k- elesPC&PCH+1
: : : | ERTC
BRTC k 64=k =163 PC&(PC+1)+k | F‘f'~+L
PC&PCHI —Ee—
16 X
7 S
(1111 [O0ikk | kkkk | K110 | ) =L
(SREG) : Tl oy W EElTE
I T K S v N z C 5 =
= N N N
: ( 45216..ASM)
bst r3,5 ;R3 5 SREG T , R3=$55
Ip:brtc Ipl ;T 0 , 1
clt -(T)=0
rimp Ip ;
Ipl:set ;(M=1
rjmp Ip ;
Words: 1(2 bytes!
Cycles: I if condition is false
2 1f condition is true
17.
BRVS
: , LV \Y ’ PC a PC
: PC—64= =PC+63. K PC , 2 i
BRBS3: Kl
IfVv=1I1thenPC& (PCH D) +k: eles PC&PCHI
BRVS ks  -64=k=-+63 PC&(PCH Dtk |. BRVS
PC&PCH1 BC 11
16
X
[1111 [ookk | kkkk | ko1l | e M
(SREG =1
{ SRE) : foied
1 T H S \Y N YA C
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AR 4 — 44

: ( 45217 .ASM)
Ip:brvs Ipl ; W=1 ,(V)=0
sev ; W~ 1
rjmp Ip ;
Ipl:clv ; W~ 0
rjmp Ip ;
words: 172 bytes!
Cycles: I if condition 1is false

2 if condition is true

18.
BRVC—
: ’ (vl % : PC " PC
PC—64= =PC+63. K PC y 2 { BRBC3:
Kla
IfVv=0thenPC& (PC+1)+ k. eles PC&PC+1
BRVC k —64=k=21+63 PC& (PCH1)+k
PC&PC+1
16
| 1111 | 0lkk |kkkk |ko1l |
{ SREG :
I T H S V N Z C
: ( 45218.ASM)
Ip:brvc Ipl ; (\)=0 ,(N=1
clv ; ~ 0
rjmp Ip ; |
Ipl:sev ; W 1
rjmp Ip ;
Words: 12 bytes!
Cyclse: lif condition is false
2 if conition 1is true
19.
BRIE—
: , 1 | 1. PC .
PC : PC64= =PC+63. K PC 2 {
BRBS7: Kla
:o  If I=IthenPC&(PC+1)+k:  elesPC&PCH1
BRIE k —64=k=+63 PC&(PC+1)+k
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PC&PC+1
16
| 1121 [ookk | kkkk | k111 |
( SREG) :
T H S v N z C
I N I I B B N
: ( 45219.ASM) \\/ BRIE
LP:BRIE LP1 ; n=1
: . | PE&l |

;o (D=
SEI ;(D=1
RIMP LP ;
LP1:CLI :(D=
RIMP LP ;
words: I {2 Dbytes)
Cycles: I if condition is false
2 if condition is true
20.
BRID
. . 1l | , PC -
PC : PC—64= =PC+ 63. K PC b : 2 (
BRBC 7, Kla
: If 1=0 then PC&(PCH1)+ k else PC&PCH+ 1 \LWD
BRID k —64= k =-+63 PC&(PCH1D)+ k
PC&PC+1
16
| 1111 | 01kk | kkkk | k111 |
{SREG!
| T H S V N Z C
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AVR 4 — 46
: ( 45220.ASM)
LP:BRID LP1 ; (D=0 , (D=1 J( CPSE
CLI (D=0 PC+1
RIMP LP ;
LP1:SEI ;(1)=1 Rd| |Rr
RIMP LP
Words: 112 bytes!
Cycles: I if condition is false
2 if condition 1is true
21
CPSE— T PC+1,42,43
Rd Rr :
RA=Rr-. \l’

If Rd=Rr then PC&PCH+2 for 3 else PC<&PC+1

CPSE Rd, Rr 0= d= 31, 0= r=31

PC&PC+ 1

PC&PC+ 2
PC&PC+ 3
16
| 0001 | 00rd | dddd | rerr |
{ SREG :
| T H S V N Z C
: ( 45221 _ASM)
Ip:inc r4 ;o (rd)=$77 ,(r0)=$77
;o (rd)=%$76 ,(r0)=$77
Ipl:cpse r4,r0 ;rd r0 )
lds r10,%0100 ; SRAM $0100 R10
nop
dec r4 ;(rd)-1
cpse r4,r0 o4 r0 ,
rjmp Ipl ;
mov r10,r0 ;
rjmp Ip ;
Words: 102 bytes!
Cycles: I
22.

SBRC

http://\WWW.SL.COM.CN



AVR 4 — 47

If Rd thy = 0 then PC&PCH2 for 3} eles PC&PCH+ 1

SBRC Rr» b 0= r= 3L 0= b=7 PC&PC 1

pC&pC+ 2
PC&PC+ 3
16
| 1121 [110r |[rrrr [ Xobb |
{ SREG :
[ T H S Vv N Z C
-l -1 -1 -7T-1T-] =17 =]
¢ 45222 .ASM)
Ip:sub r0,r1 ; 1(r0)=$80, (r1)=%$70
sbrc r0,7 ;r0 7 , 1
sub ro,rl ;
swap r0 ;10
rjmp Ip ;

Words: 12 bytes]
Cycles: 1 if condition is false(no skip)
2 if condition 1is true iskip is exectued!

23.
SBRS

If Rr(b? =1 then PC&PC+ 2 for 3} eles PC&PCH+ |

SBRS Rr. b =r=31, 0=b=7 PC&PCH1
PC&PCH2
PC&PC+3
16

| 1111 [ 111r | rrrr [ Xbbb |

{ SREG
| T H S V N Z C
N N N N N
. ( 45223 .ASH) J, SBRS
Ip:sub ro,r1 ; 1(r0)=$80, (r1)=%$70 PC+1
sbrs r0,7 ;ro 7 , 0
sub ro,rl ;
swap r0 ;r0

B,
bz

= PC+1,+2,+3
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rjmp Ip ;

Words: 1 {2 bytes!
Cycles: | if condition is false no skip!
2 if condition is true {skip Is exectued!

24. 170
SBIC—1/0
: 150 , ’ . 32
1/0 ' . 0~31.
If 1/0P, b= 0 then PC&PC+2 for 3) eles PC&CH+1
SBIC P,b 0==5P=231, 0=5b=7 PC&PC+1
PC&PCH2
PC&PCH3
16 1o
EELN
| 1001 [1001 |[PPPP | Pbbb | b ,
{ SREG :
| | T | H | S | V | N | YA | C |
: ( 45224 . ASM)
Ip:sbhic $1c,1 ; (EECR)=3%00, .equ EECR=$lc, 1, o , 1
; 1/0 , : 1,
;2 $1C ( )
rjmp Ip ;
Idi R16,$0f ;
OUT $1C,R16 ; i/o 1 1
rjmp Ip
B Memory: L . _ ;IEIE!
o | =¥ [0x00

00 00 00 00 00 00 00 00 00 00 00 00 20 00 00 00 00
10 00 0o 00 00 00 00 o0 00 00 00 00 00 OF 00 00 00
z0 00 00 00 00 00 00 o0 00 00 OO0 00 00 00 00 o0 00
30 00 00 00 00 00 00 00 00 00 OO0 CO 00 00 0o OO0 00

Words: 11i 2 bytes)
Cycles: 1 if condition is false {no skip!
2 if condition is true iskip Is exectued!

25. 1/0

SBIS—1/0
: 1/0 : : n
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32 1/0 , 0—~31.
If 1/0P, b=I1 then PC&PC+2 lor 31 else PC&PC+1
SBIS p,b 0= P= 31. 0= b= 7 PC&PC+ 1
PC&PC+ 2
16 PC&PC+ 3
| 1001 [1011 [PPPP |Pbbb |
{ SREG! :
| T H S v N Z C
: ( 45225 .ASM)
Ip:1di R16,$0F ;
OUT $1C,R16 ; 1/o 1 1
Lpl:shis $lc,1 : (EECR)=%$00, .equ EECR=$%1c, 1, 1 , 0
; 1/0 ,
S 1, 2 $1C ( ), 45225B.ASM
rjmp Ip ;
Idi R16,%$00 ;
OUT $1C,R16 ; 1/0 1 0
rjmp Ipl
Words: 1 (2 bytes)
Cycles: I if condition is false {no skip}
2 if condition is true {skip Is exectued’
L I:PC :I L L
PCB L L 1
PCs .
’ PC
\ PC ) s
26.
RCALL—
PC+1 (2K 4K ) {RCALL )
{ CALL .
. PC&(PCH1)+k
RCALL k —2K= k =2K PC&(PCH1)+ k
16
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AVR

4 — 50

| 1101 | Kkkkk | kkkk | Kkkk |

{ SREG

2 (
ser temp y
out DDRA,  temp

forever:

clr temp

out PORTA, temp
Idi temp,1200
rcall delay mS
ser temp

out PORTA, temp
Idi temp,1200
rcall  delay mS
rjmp forever

delay mS: ;

Idi zI, low(2500)
Idi zh,high(2500)

delay_loop:

217.

dec zI
brne

dec zh
brne

dec temp
brne delay _mS
ret ;

;-1

-1

Words:
Cycles: 3

ICALL—

16 '

16

delay_loop

delay_loop
;-1

DIP40LED.ASM)
$FF,

LED

:PORTA  LED
; (

LED

;PORTA  LED

11 2 bytes!

Z (16
64K

PC {15—0) «Z i15—0)
PC {15—0) «Z (15—0!

ICALL

None

]

),

{128

PC+1

) .

See operation

RCALL

= K

+ 2K
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AR 4 — 51
| 1001|0101 | xxxx | 1001 |
{ SREG :
T T T -1 -T-T-T-]
: ( 45227 .ASM)
.ORG $0010
LP:MOV R30,R0 ; (RO) Z 8 R0 Z 8
MOV R31,R1  ; (R1) Z 8 ,R31 8
ICALL : Z ) ™
.ORG $0200
LDI R20,$11 ;  $0200 ,  (R0)=$00,(R1)=02, ICALL
LDI R21,$22 ;  $0201 ,  (RO)=$01,(R1)=02, ICALL
LDI R22,$33 ;  $0202 ,  (R0)=$02,(R1)=02, ICALL
LDI R23,$44 ;  $0203 ,  (R0)=$03,(R1)=02, ICALL
LDI R24,$55 ;  $0204 ,  (R0)=$04,(R1)=02, ICALL
LDI R25,$66 ;  $0205 ,  (R0)=$05,(R1)=02, ICALL
ICALL : $0205 ,  (RO)=$06,(R1)=02, ICALL
; YA
move r30. rO0
icall
Words: 1 @ Zbytes!
Cycles: 3
28.
CALL—
: { )
{ RCALL 1 .
: PC€k
PC<k
CALL k 0= k = 64K PC&k STACK€PCH+ 2
SP&SP—2
CALL k 0= k = 4M PC&k STACK€PCH+ 2
SP&SP—3

32

1001 | 010k | kkkk | 111k
Kkkk | kkkk | kkkk Kkkk

. ( 45228 . ASM)
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AVR 4 — 52
move ri6,r0 .
call delay mS ; , ™
.ORG $0200
delay_mS: ;
Idi zI,low(1990)
Idi zh,high(1990)
delay_loop:
dec zI
brne delay_loop
dec zh
brne delay_loop
dec temp
brne delay_mS
ret ;
Words: 2 (4 bytes)
Cycles: 4
29.
RET—
PC (15—0) €STACK
PC 121—0; €STACK
RET None See Operation SP&SP+ 2
RET None See Operation SP&SP+ 3
16 :

| 1001 [o0101 [oxx0 |1000 |

{ SREG

: ( 45228 .ASM)
RCALL LP
LP:LDI R16,0X56 ;
RCALL DELY ;
RET ;
Words: 1 Zbytes)
Cyclse: 4

30.
RETI—

2. RETI-
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PC ©15—0) €STACK
PC {21—0J €STACK

RETI None See Operation SP&SP 2
RETI None See Operation SP&SP +3
16 :

|1001 |0101 |oxxo |1ooo |

{ SREG! :
| T H S v N Z C
|l =l =l =] =] =] =1 =
: ( 45230.ASM, " ASM” , h " ASM”
AVR -- ( )

.cseg

.org 0x06 ;timerl

inttl: RJIWP OUTPM  ;

.cseg

.org 0x010 ;

OUTPM:z  OUT TCNT1H,TONH ;
OUT TCNTIL,TONL ;
SBIS PORTC,00 ;
RIMP SETOP1 ;

SETOPO: CBI PORTC,00 ;
LDI MUSN,$00 ;
RETI ;

SETOP1: SBI PORTC,00 ;
LDI MUSN,$01 ;

RETI ;
extint: push ro pop ro
reti
WOrds: 1 {Zbytes)
Cyclse: 4
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4.6
" ’ t, SRAM I
1/0 o LPM PUSH ¢ :
POP ¢, )
4.6.1
1.
MOV
: Rr ’
Rd Rr .
: Rd =— Rr
MOV  Rd Rr 0= d= 31. 0= r=31 PC&PCH 1
16

|0010 |11rd |dddd |rrrr |

{ SREJ :
| T H S V N VA C
-l -l -1 -1-1-7T-17 =]
: ( 4611.ASM)
Ip:mov r16,r0 ; RO R16
rcall check ;
rjmp Ip ;
.org $0100 ;
check:swap r0 ; r0
ret ;
Words: 172 bytes!
Cycles: 1
2. SRAM
LDS SRAM
SRAM 1 - 16 .
64K SRAM . 64K + LDS RAMPZ .
: Rd€ (k)
LDS Rd k 0= d= 31. 0= k==65535 PC&PCH 2
32

1001 000d | dddd 0000
kkkk kkkk | kkkk Kkkk

{ SREGJ
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| T H S v N VA C
: ( 4612.ASM)

LP:1ds r2,$0200 ; SRAM $0200 , :($0200)=$11
add r2,rl ;R2 RO , R2 , :(r1)=%$88
sts $0200,r2 ;R2 SRAM $0200
RIMP LP ; SRAM ,

B Nemory: 1

|Data vI abc %ﬁ 0=0200
0O oo ao ao

OlF0 00 00 o0 00 00 00 00 oo 00 0 o0 0o oo ;I
OZ00 11 00 00 00 00 00 00 00 00 00 o0 00 oo 00 00 00
0210 00 00 0o 00 00 00 00 0o 00 0o 00 00 o0 oo o0 oo
OZE0 00 00 00 00 00 00 00 00 00 00 o0 00 0o 00 00 00 d

Words: 2 {4 bytes)
Cycles: 3
SRAM
STS SRAM
H SRAMu 16 o
64K SRAM . STS RAMPZ 64K
: [k} €Rr
STS ks Rr 0==r=31, 0=k=65535 PC&PCH2
32 :
1001 | 001d | dddd 0000
Kkkk | kkkk | kkkk | kkkk
{ SREG :
| T H S s N z C
: ( 4613.ASM  4612.ASM )

LP:1ds r2,$0200 ; SRAM $0200 , :($0200)=$11
add r2,r1 ;R2 RO , R2 , :(rl1)=3%88
sts $0200,r2 ;R2 SRAM $0200
RIMP LP ; SRAM ,

Words: 2 { 4 bytes!
Cycles: 3
LDI—
: 8 R16—R31 .
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4 — 56

: RAd<K

LDI Rd K
16

| 1110 | KKKK | dddd | KKKK |

{ SREG

16= d= 31, 0=K= 255

PC&PCH 2

: ( 4614 .ASM)
clr r31 ;R31
Idi r30,$FO0 ; R30
Ipm ; ,
Words: 102
Cycles: 1

bytes!

1. X SRAM

LD X SRAM
: SRAM
{16 )
SRAM & 1/0 RAMPX
: 1 1 . X

: Rd€ (XD
Rd& iX)
X&X—1

XEX+1
RA€(X)

0== d==31
0=d=31
0=d=31 X

LD Rd, X
LD Rd,X+
LD Rd,-X

16

1. 1001 | 000d | dddd | 1100

1001 | 000d | ddad | 1101

3. 1001 | 000d | ddad | 1110

{ SREG

,R16= R =R31

» SRAM
64K SRAM

PC&PC+1
1 PC&PC+1

1, PC&PCH1
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4 — 57

| T H S V N Z C
— == =] =] =1 =1
: ( 4621.ASM)
LP:
clr r31 ; z
Idi  r30,$20 ;%20 Z
Id ro, X+ ; X JX+1 SRAM

;(30101)=$22 ,($0102)=$33; X
> (X)=$0100,

RO, :SRAM($0100)=$11

(X)=$0100

(RO)=$11 ,  (X)+1=$0101

X R27, R26, SRAM =$60
1
% X PRt ~lol x|
RO = Oxll & = (x00 -
Rl = nf;zz R13 = ninn R2E = n:na Frogram |‘|an15' x-n.,i,:%:'ﬁ:m_' j
R2 = 0x22 R14 = 0x01 R2f = 0=01 bk —— e
F3 = 0Oxll RI15 = 0x00 R27 = 0=01 ESE
R4 = Oxll R16 = 0x00 R28 = 0=00 || Cpel |DlIlIIUlS T-Regist |a.m23
RE = uinu R17 = uiuu R29 = B:uﬂ ) - =
Ré = Ox01 R18 = 0x00 R30 = 0Ox23 . 4
R? - 0%00 R19 - 0x00 R31 - 0200 1% SRAM HHE E__E =lol x|
E8 = 0=x00 R20 = 0=00 : =
RS - 0200 R21 - 0200 Daita /—L, u= % |0x0108 |
R10 = 0x00 R22 = 0x40 00F0 0000 uuuulfaoou 0000 0000 0000 0000 Q000 -
R1l1 = Ox02 R23 = Ox00 0100 1122 3344 5566 7788 5%00 0000 0000 0000
‘I l _’I 0110 0000 0000 Q000 CO000 OQODD 0000 QOO0 Q000 ﬂ
Id ri, X ; (X)=%$0101 ,(R1)=$22
Idi  r30,%23 : (R30)=%23
1d r2,X : (X)=%$0101, (R2)=%22
1d r3,-X ; (X)-1=%$0100, (R3)=%11
Id r4, X+ ; . (X)=$0100, (R4)=$11, (X)+1=$0101
NOP ;
RIVWP LP
Words: 12 bytes!
Cycles: 2
2. X SRAM
ST— X SRAM
SRAM. SRAM X116
. 64K SRAM SRAM . 1/0
RAMPX a » X ’ 1 1. X
: (X)€ Rr
X € Rr XEX+1
X € X—1 (X)<Rr
ST X,Rr 0= d=31 X PC&PCH+1
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ST X+ ,Rr 0=d=31 , X 1 PC<PC+1
ST —X,Rr 0=d=31 X 1, PC<PC+1
16
1. 1001 | 001r | rrrr | 1100
2. 1001 | 001r | rrrr | 1101
3. 1001 | 001r | rrrr | 1110
{SREG 1
| T H S v N z C
el il B e
: ( 4622 .ASM)
Ip:
clr r27 X LA R27, R26
Idi r26,%70 ;$70 X ,SRAM =$60
st X+,r0 ; (RO)=%11, SRAM(X)=$0070, (X)+1=$0071
st X,rl ;. (RD=%22, (X)=%0071, SRAM($0071)=$22
Idi r26,$80 ;$80 X
st x,r2 i (R2)=%33, (X)=$0080, SRAM($0080)=$33
st -x,r3 ; (R3)=%$44, (X)-1=%007F, R3 SRAM($007F)
nop ;
rjmp Ip ;
Words: 10( 2 bytes)
Cycles: 2
b Y
3. Y SRAM
LD ¢LDD} — Y SRAM
: SRAM + SRAM
(16 1} - 64K SRAM SRAM
1/0 RAMPY a r Y :
1 o Y 1 h] o
: Rd€ (Y
Rd< (Y)
Y&EY—1 YEYT 1
Rd& (Y+q! Rd€ (Vi
LD Rd,Y 0= d=31 LY PC&PC+1
LD Rd Y+ 0=d==31 , Y 1 PC&PC+1
LD Rd,-Y 0==d==31 Y 1, PC&PCH1
LDD Rd Y+q 0= d==31 Y a, , PC&PCH1
0=0=63 Y 4 Q)
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16 :
1. | 1000 0ood dddd 1000
2. | 1001 00od dddd 1001
3. | 1001 0ood ddad 1010
4. | 1090 ggod dddd 1gqq
{SRE} :
I T H S v N VA C
= B B e B N N
: ( 4623.ASM)
LP:
clr r29 ;Y Y R29, R28
Idi r28,$60 ; $60 Y SRAM =$60
Id ro,y+ ;; Y LY+l SRAM RO, :SRAM($0060)=$11
; ($0061)=%$22 , ($0062)=$33; (Y)=%0060, (RO)=$11 , (Y)+1=$0061
Id rly ; (Y)=$0061, ,(R1)=$22
Idi r28,$70 ; $70 Y
Id r2,y ; (Y)=$0070, ($0070)=$44, ($006F)=$55, ($0071)=$66
; (R2)=$44
Id r3,-y ; (Y)-1=$006F, (R3)=$55
Idd r4,y+2 ; , (Y+Q)=(Y+2)=($006F+2)=$071, (R4)=%66,
;Y ¢4 a)(Y)=%$006F
nop ;
rjmp Ip ;
Words: 1102 bytes)
Cycles: 2
4. Y SRAM
ST (STD} — Y SRAM
: SRAM .  SRAM Y
{16 ) o 64K SRAM . SRAM s
1/0 RAMPY ,Y , 1 1.
Y ,
: LY) € Rr
LY} € Rr YEY+ 1
Y €« Y—I (Y} €Rr
Y+ g)€ Rr
ST Y,Rr 0= d=31 Y PC&PC+1
ST Y+ ,Rr 0=d=31 , Y 1 PC&PC+1
ST -Y. Rr 0=d=31 Y 1, PC&PCH 1
STD Y+q,Rr 0= d=31, Y q. , PC&PC+1
0= (=63 Y ¢4 Q)
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16 :
1. 1000 001r rrrr 1000
2. 1001 001r rrrr 1001
3. 1001 001r rrrr 1010
4. 1090 Qqlr rrrr 1ggqg
{ SREG :
T T =T —T—T—T—
: ( 4624 .ASM)
LP:
clr r29 ;Y Y R29, R28
Idi r28,%70 ;$70 Y , SRAM =$60
st y+,r0 ; (RO)=%$11, SRAM(Y)=$0070, (Y)+1=$0071
st y,rl ;o (RD=$22, (Y)=$0071, SRAM($0071)=$22
Idi r28,$80 ;$80 Y
st vy,r2 ;. (R2)=$33, (Y)=$0080, SRAM($0080)=3$33
st -y,r3 ; (R3)=%$44, (Y)-1=%007F, R3 SRAM($007F)
std y+2,r4 ; (R4)=$55,
: , (Y+q)=(y+2)=($007F+2)=$0081, SRAM($0081)=$55,
; Y &4 ) (Y)=$007F
nop ;
rjmp Ip ;
Words: 11 2 bytes!
Cycles: 2
. Z
5. Z SRAM
LD {LDD} — z SRAM
: SRAM » SRAM Z
(16 a 64K SRAM o SRAM
’ 1/0 RAMPZ a s Z ’
1 1 Z , , z
' 0 Z X+ Y a
z , LPM 0
: Rd€& (Z)
Rd€& (Z}
Z <€ 7—1
Rd& (Z+q)
LD Rd,Z 0= d=31 ,Z PC&PCH+1
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LD Rd Z+ 0=d=31 , Z 1 PC&PC+1
LD Rd,-Z 0=d=31 Z 1, PC&PCHI
LDD Rd Z+q 0= d=31 z a, s PC&PCH1
0=0=63 Z Zz Q)
16
1. | 1000 00od dddd 0000
2. | 1001 0ood dddd 0001
3. | 1001 000d dddd 0010
4. | 1090 gq0d dddd 0gag
{ SREG :
| T H S Vv N Z C
| - - -] [ =] =1 =]
: ( 4625.ASM)
LP:
clr r31 iz ,Z R31, R30
Idi r30,$60 ; $60 Z SRAM =$60
Id r0,z+ ;; Z JZ+1 SRAM RO, :SRAM($0060)=$11
; ($0061)=%$22 , ($0062)=$33; (2)=%0060, (RO)=$11 , (2)+1=%$0061
Id r1,z (2)=%$0061, ,(R1)=$22
Idi r30,$70 ; $70 Y
Id r2,z ; (2)=$0070, ($0070)=$44, ($006F)=$55, ($0071)=$66
; (R2)=$44
Id r3,-2 ; (2)-1=$006F, (R3)=$55
Idd r4,z+2 ; , (Z+Q)=(Z+2)=($006F+2)=$071, (R4)=%66,
;L (¢4 q)(Z)=%$006F
nop ;
rjmp Ip ;
Words: 102 bytes]
Cycles: 2
6. Z SRAM
ST (STD} — Z SRAM
: SRAM. SRAM z
{16 ) . 64K SRAM . SRAM s
1/0 RAMPZ . : Z : 1
1. Z : Z
L] L] Z L] x Y
: [Z) €Rr
(Z) €Rr €7 1
¢ Z-1 {Z) €Rr
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AVR 4 — 62
{Z+q) €Rr
ST Z,Rr 0= d=31 ,Z PC&PCH+1
ST Z+,Rr 0=d=31 , Z 1 PC&PCH+1
ST -Z. Rr 0==d=31 z 1, PC&PCH1
STD Z+q,Rr 0= d=31, VA q, , PC&PC+1
0=0=63 z (z Q)
16 :
1. | 1000 001r rrrr 0000
2. | 1001 001r rrrr 0001
3. | 1001 001r rrrr 0010
4. | 1090 qqlr rrrr 0aaqq
{ SREG
| T H S V N z C
¢ 4626.ASM)
LP:
clr r31 iz z R31, R30
Idi r30,%$70 ;$70 Z , SRAM = $60
st z+,r0 ; (RO)=$11, SRAM(Y)=$0070, (2)+1=%0071
st Z,rl ;o (RD=$22, (2)=%0071, SRAM($0071)=$22
Idi r30,$80 ;$80 Z
st Z,r2 ;o (R2)=$33, (2)=%0080, SRAM($0080)=$33
st -Z,r3 ; (R3)=%$44, (2)-1=%007F, R3 SRAM($007F)
std z+2,r4 ; (R4)=$55,
: i (Z+q)=(Z+2)=($007F+2)=%$0081, SRAM($0081)=$55,
; Z Z 9(Z)=%007F
nop ;
rjmp Ip ;
Words: 1{ 2 bytes!
Cycles: 2
3.6.3
1. LPM—
: z 0 RO’ 100 %% .
16 » 2016 (LSB}
0 : 1 a 64K (32 .
: RO& (Z)
LPM None PC&PC+ 1
16
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AR 4 — 63
| 1001 [o0101 |110x | 1000 |
{ SREG? :
[ T H S v N Z C
: ( 4631.ASM, , ASM™)
.org $0010 ; $0020
clr r31 ;Z ,
Idi r30,$F0  ;Z ,
CLR R29 ;Y
LDI R28,$F0 ; $FO Y
LP: NOP ; ($000F0)=$00, ($00FF)=$FF
1PN ; Z RO
ST Y+,R0 -y RO SRAM($00F0), Y Y=(Y+1)
INC R3O ;Y RO SRAM($00F1),  Y=(Y+1)
CPI R30,$00 ;R30  (Z ) $00
BRNE LP :R30 0 , 0
INC R31 :Z 1 ,(2)=$0100
RIMP LP : , .
.ORG $0078 ; $00F0
_DWV 0X1122,0X2233,0X4455,0X6677,,0X8899 , 0XAABB, 0XCCDD , OXEEFF
.DW $0208,$5510,$1910,$8750,$5012,$8757,$8872,$8757,,$8852
Words: 112 bytes)
Cycles: 3
4-6-4 170
1. 1/0
IN—F/ 0
1/0 ( : ) Rd
: RA€P
IN Rd P 0= d=231, 0= P=63 PCEPCH 1
16
| 1011 |OPPd |[dddd |PPPP |
{ SREG ) :
[ T H S v N Z c
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AVR

: ( 4641 . ASM)
LP:
IN R25 , $1B ;A R25
LDI R23 , $26 ; 26 R23
ADD R23 ,R25 ;R23  R25 R23
RIMP  LP ;
Words: 102 bytes!
Cycles: 1
2. 1/ 0
ouT 1/0
: Rr 1/0 Lo “
P& Rr
oOUT Ps Rr 0= r=31L 0= P=63 PC&PC 1

16

| 1011 [1PPr | rrrr | PPPP |

( SREG :
I T H S v N z C
= -1 =1 —=1-=1-=1—=1
: ( 4642 .ASM)
;AT90S1200 PB . PD LED ) 1/0
.DEVICE AT90S1200 : AT9051200

.EQU PORTB  =0X18

-EQU DDRB =0X17 ; B
.EQU PORTD  =0X12

.EQU DDRD =0X11 ;D

-ORG 0X0000

LOP:  RIMP LOP1 ;

-ORG 0X0010

LOP1: LDI R20,0XFF ; LED s LED
OUT 0X17,R20 ; B
OUT 0X11,R20 ; D
CLR R20 ; LED
OUT 0X18,R20 ; B
OUT 0x12,R20 ;D

LDI R20,0X64

LDI R20,0XFF ; LED

OUT 0X18,R20 ; B PORTB
OUT 0x12,R20 ; D PORTD
LDI R20,0X64
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AVR 4 — 65
RIMP LOP1 ;
Words: 1¢2 byteS!
Cycles: 1
4-6.5
AVR SP.
1.
PUSH—
: Rr
STACK€Rr
PUSH Rr 0 = d=31 PC&PCH1 SPESP— 1
16
| 1001 [001d |[dddd | 1111 |
{ SREGJ
I T H S V N Z C
: ( 4651 .ASM)
LP:
rcall routine ; ROUTINE
routine: push r13 ;. R13
push rl4 ; Rl4
push r15 ; R15
pop rl5 ; R15
pop ril4 ; R14
pop ri3 ; R13
ret ; R13. R14. R15
rjmp Ip ;
Words: I {2 Dbytes)
Cycles: 2
2.
POP—
: Rd
: RA€STACK
POP Rd 0 = d =31 PC&PCH1  SP€SP+ 1
16

|1001 |000d |dddd |1111 |
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AVR 4 — 66
{ SREG! :
o I e e e
: ( 4652 .ASM)
LP:
rcall routine ; ROUTINE
routine:
Idi r16,%01 ; 01 R16
Idi r17,%02 ; 02 R17
push rl6 ;  R16
push rl7 ; R17
pop rl7 ;
pop ril6 ;
ret ;
Words: 110 2 bytes!
Cycles: 2
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AVR 4 — 67

4.7

AVR . ,
4.7.1
1.

LSL—

: Rd 1 - 0 T SREG C
2 .
., 7z65343&11
< =l
e 0000
3L
LSL.Rd 0 = d.£31 PCGPC+;L
16

| 0000 | 11dd |' dddd | dddd |

P125
i SREJ
| T H S \Y N VA C
[ -l -[elele]e] ] |
H: Rd3 N: R7
S: NV Z: /R7- /R6- /RS- /R4- /R3- /R2- /R1- /RO
Vi NC C: Rd7
: ( 4711.ASM)
LP:
Idi r16,$01 ; 01 R16
Idi r17,$02 ; 02 R17
add r16,r17 ;R16  R17
Isl rl16 ; { 01+02=03, : 2. r=06.
rjmp Ip ;
Words: 172 bytes!
Cycles: 1
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AVR 4 — 68

- LSR—
: Rd 1 . 7 : 0 SREG C
2 - C .
reaad 282 L0 L
0l— -
—
| SR
LSR=Rd 0 = d=-'=531 PCGPC-I-:l
16

| 1001 [010d |dddd |o0110 |

{ SREGJ
I T H S Vv N Z C
[ -[ -] —-[ele]le]e] o]
S: NV Z:/R7- /R6- .R- /R4 /R3- /R2- /R1- RO
V: NC C: RdO
N: O
: ( 4712.ASM)
LP:
add r0,rl ; RO R1 (ro)= ,(rd)=
Isr r0 ;' RO
rjmp Ip ;
Words: I {2 byt6s)
Cycles: 1
3.
ROL—
Rd 1 ,C Rd 0 . Rd 7 C

L 5 agRl [

— RrOL
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AVR 4 — 69

ROL Rd 0= d=31 PC&PC+ 1
16

|0001 |11dd |dddd |dddd |

{SREG :
[ T H S v N Z C
| -l -l el e e] ]| @]
H: Rd3 N: R7
S: N V Z:/R7- /R6- .R- /R4 /R3- /R2- /R1- RO
V: NC C: Rd7
: ( 4713.ASM)
LP:
rol ri5 ; R15 , (r15)=
rol ri5
nop
rjmp Ip
Words: 102 bytes!
Cycles: 1
4,
ROR—
: Rd 1 .¢C Rd 7 +Rd 0 C
L 76 58 21 U
C =
LUK
ROR.Rd 0 = d =31 PC&PCH 1.
16
| 1000 [o010d |dddd |0111 |
{ SREG :
I T H S Vv N Z C

I I N I I I I

http://\WWW.SL.COM.CN



AVR

4 — 70

St NV Z:/R7- /R6- .R- /R4- /R3- /R2- /R1- RO
V: N C C: RdO
N: R7
1 ( 4714 .ASM)
LP:
ror rl15 ;. R15 , :(r15)=
ror ril5
nop :
b 75543210 ¢
Words: 10 2 bytes)
Cycles: 1 —
—
5 ASR
ASR—
H Rd 1 H H O SREG C
2 2s ’ a
ASR Rd 0 = d =31 PC&PC+ 1
16
| 1000 [010d |dddd |o0101 |
{ SREG )
| T H S vV N Z C
R O O I =
St NV Z:R7- R6-R5- R4- R3-R2- R1- RO
V: N C C: RdO
N: R7
: ( 4715.ASM)
LP:
Idi r16,$10 :
Idi r17,$fc :
asr ri6 ;
asr ri7 ;
rjmp Ip ;
words: 102 bytes]
Cycles: 1
6.

SWAP—
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AVR 4 — 71

: R i7~4) €Rd (3~0) €R (3—~0) €Rd(7~4]

: : : e |
SWAP Rd 0 = d =31 PC&PC+ 1
16 : Zead 3 e LI
| 1001 [010d |dddd |0010 |
(SRE) .
| T H S \Y N VA C
-l -1l-1=-]-]-=1] =
: ( 4716.ASM)
LP:
inc rl
inc r2
swap rl
swap r2
rjmp Ip
Words: 112 bytes)
Cycles: 1
4.7.2
1. SREG T
BST— SREG T
: b SREG ! T
: T€Rd (bl
BST .Rd b 0= d£3.1,0£ b=7 PC&PCH I.
16 :
| 1111 [ 101d [dddd | Xbbb |
{SRE}
| T H S \Y N VA C
-l -l -1 -1-]T-] -1 —|
T: 0 if bit b in Rd is cleared. Set to | otherwise.

bst rl,2 ; T€R1 (2}
bld r0. 4 ; RO (4} €T
Words: I (2 bytes!
Cycles: 1
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AR 4— 72
2. SREG T
BLD . SREG T .
: SREG )T Rd b
: Rd (b) €T
BLD  Rd,d 0= d=31, 0= b7 PeePCH 1
16
| 1111 [ 100d |dddd | Obbb |
( SREG) :
T H s v N z c
I I I I I
: ( 4722.ASM)

bst rl1,2 ; T&R1 (2}
bld r0. 4 ;: RO (4) €T

Words: 1¢2 bytes!
Cycles: 1
4.7.3
1.
BSET—
{ SREG)
: SREG (S} €1
BSET s 0 = s =7 PC&PCt 1
16

| 1001 [0100 |[oOsss |1000 |

{ SREG :
| T H S \ N YA C
el ele|l el o] o] s] |
I: 1 if s=7 Vi 1 if s=3
T 1 if s=6 N: 1 if s=3
H 1 if s=5 Z: 1 if s=1
S 1 if s=4 C: 1 if s=0

bset 6 ; SREG (6} <1
bset 7 ; SREG {7} €1
Words: 10 2 bytes)
Cycles: 1
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AVR 4 — 73
2.
BCLR——SREG
SREG “
SREG (S} €« 0
BCLR s 0 = s =7 PC&PCt+ 1
16
| 1000 [0100 |1sss | 1000 |
{SREG?
| T H S V N VA C
[ el o]l o]l o[ o[ o] o [ & |
I: 0 if s=7 V: 0 if s=3
T: 0 if s=6 N- 0 if s=2
H: 0 If s=5 Zz 0 if s=1
S: 0 if s=4 C: 0 if s=0
bclr 0 ; SREG (0} €« O
belr 7 ; SREG (7} €« 0
Words: 10 2 bytes!
Cycles: 1
3. 1/0
SBlI— 1/0
: 1/0 , 32 1/0 1/0
0~31.
1/0( P b} €1
SBIP: b 0=P=31, 0=b=7 PC<PC+1
16 :
| 1001 [ 1010 [PPPP |Pbbb |
{ SREG} :
| T H S V Z C
out $le,r0 ;(EEARL )*+(RO)
sbi  $1c,0 ;( EECR 0 )¢«1
in rl,$1d ; (RO)+(EEDR )
WOrds: 1 ¢ 2 bytes)
Cycles: 2
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AVR

4 — 74
4. 1/0
CBI— 1/0
1/0 , 32 170 » 140
0~—3L
1/0 (P, b} €0
CBI P, b 0= P=31, O0=b=7 PC&PC 1
16 :
| 1000 [ 1000 |PPPP |Pbbb |
{ SREG :
| T H S v N VA C
C: 1
chi $18,7 ; 170 (PORTB 7 1 €0
Words: 1¢ 2 bytes)
Cycles: 2
5.
SEC
SREG J (Cla
: C€1
SEC NOne PC&PCH+ 1
16 :
| 1001 | 0100 |0000 | 1000 |
{ SREG
| T H S v N Z
N N N N N
C: 1
sec ; C€1
adc r0, r1 ;
words: 16 2 bytes!
Cycles: 1
6.
CLC—
SREG . i LCla
: C&0
CLC None PC&PCH 1
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AVR

4 — 75

16

| 1001 [0100 |[1000 |1000 |

{ SREG :
[ T H S \ N Z C
| -l -] -] -1 -] -] 10 |
C: 0
add r0, r0 ;
clc ; C&€0
Words: 142 bytes!
Cycles: 1
7.
SEN—
SREG ¢ ) {NT.
: N&1
SEN None - PC&PCH 1
16
| 1000 [ 0100 |0010 |1000 |
{ SRE}
I T H S \ N z C
-l -]l -1 —-]T1] -] —|
N: 1
add r2, rl9
sen ; Nl
Words: 1 ¢ 2 bytes!)
Cycles: 1
8.
CLN
SREG & i (NJa
: N&O
CLl.\l None . PC&PC+ 1.

http://\WWW.SL.COM.CN



AR 4 — 76
16
| 1001 [0100 |[1010 |1000 |
( SREG) :
1T H S v N z c
I I N N R
N: 0
add r2, r3
cin ; N&O
Words: I ¢ 2 bytes!;
Cycles: 1
9.
SEZ—
SREG ) {Z}).
: Z€1
SEZ None PCEPCH 1
16
| 1000 [0100 |[o0001 |[1000 |
{ SREG :
T H S v N z C
I N N N I N U
Z |
add r2 ri19 ;
sez ; 2€1
WOrds: I < (2 bytes)
CyCICS: I
10.
CLz—
SREG ¢ ) (Z).
: Z€0
CLz . None PC&PCH l.
16
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4 — 77

| 1001 [0100 |[1001 | 1000 |

{ SREG ) :
| T H S V Z C
= N O
Z: 0
add r2, r3
clz ; 2€0
WOrds: 142 bytes!
Cycles: 1
11.
SEl—
SREG & i (1)a
: 1€1
SEI . None . PC&PC+ 1.
16 :
| 1000 [0100 [o0111 [1000 |
{ SREG )
| T H S Vv VA C
(1 = =]l =] =] =1 =]
I: 1
. chi ; 1€0
in r13,$16 ;(r13)+=(PINB )
set ; 1€1
Words: I ¢ 2 bytes!
Cycles: 1
12,
CLI—
SREG i (1.
: 1€0
CLI . None. PC&PCH 1.
16 :
| 1000|0100 |1111 |1000 |
{ SREG :
| T H S V YA C
o] | [ -1 =1-=-01 =1 =
I: 0
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AVR 4 — 78

: ( 47312 .ASM)
chi ; 1€0
in r13,$16 ;(r13)+(PINB )
set ; 1€l
Words: 11 2 bytes!
Cycles: 1
13. S
SES
SREG ! {Sha
s<l
SES NOne PC&PC+ 1
16

| 1000 [ 0100 |0100 |1000 |

{ SREG :
| T H S V N z C
= N N N N N
S: 1
: ( 47313.ASM)
add r2 ri9 ;
ses ; s€1
Words: 102 Dbytes)
Cycles: 1
14, S
CLS—
SREG ¢ i LS).
: S&0
CLS None PC&PCH+ 1
16

| 1001 [0100 |1100 |1000 |

{ SREG

add r2. r3
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AVR 4 — 79
cls ; S€0
Words: 102 Dbytes)
Cycles: 1
15.
SEV——
SREG J iVl
: V€l
SEV None PC&PC 1

16 :

| 1001 [0100 |[o0011 |1000 |

{ SREG :
| T H S v N VA C
I N N
Vi 1
: ( 47315.ASM)
add r2. rl9 ;
sev ; V€l
Words: 1¢ 2 bytes]
Cycles: |
16.
CLV——
SREG ! i Vi
: V&0
CLV= None= PC&PCt+ I=
16 :
| 1000 0100 [1011 |[1000 |
{ SREG? :
| T H S V N Z C
| -l =1 =100 ] -] -] =]
V: 0
add r2. r3 ;
clv ; V€0
Words: 1% 2 bytes!
Cycles: 1
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AVR 4 — 80

17. T
SET— T
SREG YT
: T€l
SET None PC&PCt 1
16

|1001 |01oo |0110 |1ooo |

{ SREG) :
| T H S v N Z C
| ]l -] -] —-1T—-1=1—]
T: 1
set ; T€l
Words: 1¢ 2 bytes!
Cycles: 1
18. T
CLT— T
SREG ! T
: T€0
CLT . None . PC&PC+ .I

16

| 1000 [0100 [1110 [1000 |

{ SREG :
| T H S v N z C
[ —lo] -] -1 -1 -1 =1 =]
T: 0
. clt ; T€0
Words: 11 2 bytes?
Cycles: 1
19.
SEH—
SREG ! {Hls

: H<l
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AVR 4 — 81

SEH None PC&PCH 1
16

| 1001 [0100 |[o0101 |1000 |

{ SREG)
| T H S v N Z C
[ =l -] 1 [ -] =] -] =1 =]

H: 1
seh ; Hel

Words: 11 2 bytes}

Cycles: 1

20.

CLH—

SREG ! {Hla
: H&O
CLH. None - PCéPC-l-.l
16

| 1000 [0100 [1101 [1000 |

{ SREG :
| T H S v N VA C
|l —lo |l -] —-]—-] -] —|
H: O
. clh ; H&EO
Words: 11¢2 bytes!
Cycles: |
4.7.4
1.
NOP—
: $000H
: No
NOP : None : PC&PC+ 1:
16
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AVR 4 — 82

| 0000 [0000 |0000 |0000 |

{ SREG :
| T H S Vv N z C
I N N N N N
N ¢ 4741 .ASM)
LP:
nop ;
add rO0 ,r1 ;R1 RO
nop ;
add r0, r1 ;R1 RO
rjmp Ip ; P138
Words: 1 ({2 bytes]
Cycles: 1
2.
SLEEP—
: ' MCU
SLEEE None . PC“PC+ 1.
16 :
|1001 |0101 |100x |1000 |
{ SREG J
T[T T -T-T]
: ( 4742 .ASM)
mov ro, rll
sleep ;
words: 14 2 bytes!
Cycles: 1
3.
WDR—
: ' WD

WD timer restart.
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AVR 4 — 83

WDR NOne PC~—~PC+ 1
16 :

|1001 |0101 |101x |1ooo |

{ SREG

: ( 4743 .ASM)
PLYDEL: LDl TEMP,185 ;  WDR
DT3: LDI TEMP1,04 ;
DT2: LDI TEMP2,250
DT1: WDR ;1T
WDR ;2T
WDR ;3T
WDR ;4T
WDR ;5T
DEC TEMP2  ;
BRNE DT1 ;
DEC TEMP1
BRNE DT2 ;
DEC TEMP ;
BRNE DT3 ;
RET
Words: 11 2 bytes!
Cycles: 1
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AVR 4 — 84

4.8
, ATmegal6l 130 " ATmegal6l o
3.8.1 EICALL -
: Z(16 ) I/O EIND .
- PC : ICALL-

EICALL .

(i) PC(15:0)€Z(15:0)
PC(21:16)€<EIND

(i) EICALL None See Operation STACK<PC +1

SP<SP - 3 (3 bytes, 22 bits)
16
[1001 [0101 [ 0001 [1001 |
(SREG)
| T H 5 W M z c
( 481 ASM)
I di rl16, $05 ; EEND Z
out EIND r16
I di r30, $00
[di r31,$10
ei cal | ; $051000
Words: 1 (2 bytes)
Cycles: 4 ( 22 PC )
48.2 EIJMP -
: Z(@16 ) I/1O EIND

(i) PC(15:0) «<Z(15:0)
PC(21:16)<EIND

Q) EIJMP None See Operation

16

(SREG)
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AVR 4 — 85
| T H 5 W M Fd c
( 482 ASM)
I di ri6, $05 ; END Z
out EIND r16
I di r30, $00
Idi r31,$10
eijnp ; $051000
Words: 1 (2 bytes)
Cycles: 2
48.3 ELPM -
: VA I/1O RAMPZ ,
Rd. a 16
» Z {0) (1)
A : RAMPZ Z 24
ELPM 130, Z+
ELPM r31, Z+

(i) RO « (RAMPZ:Z)
(i) Rd « (RAMPZ:Z)
(i)  Rd+« (RAMPZ:Z)

(RAMPZ:Z) « (RAMPZ:Z) + 1

RAMPZ:Z: Unchanged, RO implied destination register
RAMPZ:Z: Unchanged
RAMPZ:Z: Post incremented

(i) ELFM Mone, RO implied PC«PC+1
{ii) ELPM Rd, £ 0=d=3 PC«PC+1
(i) ELFM Rd, £+ 0=d=3 PC«PC+1
16
140 0004 dddd 01140
i 140 0004 dddd 0111
(SREG)
T H 5 v N Z C
c( 483.ASM)
clr r16 ;. RAMPZ
out RAMPZ, r16
clr r31 : Z
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AVR 4 — 86

I di r30, $F0 ; Z 1
elpmrl6, Z+ X
; RAMPZ: Z (r31:r30)

Words: 1 (2 bytes)
Cycles: 3

484 ESPM -
:ESPM ; (

+ RAMPZ Z . + RAMPZ Z
+ R1:RO n » R1:RO
ESPM . .

(i) (RAMPZ:Z) < $ffff
(ii) (RAMPZ:Z)€R1:R0
(iii) (RAMPZ:Z)€R1:R0
(iv) (RAMPZ:Z) < TEMP
(v) BLBITS <R1:R0

()-(v) ESPM None PC <PC+1
16 :

| 1001 | aio1 | 1111 | 1oao |

(SREG)

Example: ( 484.ASM)

clr r31 1 Z
clr r30 D Z

I di rle6, $FO ; RAMPZ
out RAMPZ, r16 ;

Idi ri16, $CF ;

mov rl1, rl6

Idi ri16, $FF

mov r0, rl6

[ di ri16, $03 ;. ESPM ,
out SPMCR r16 ;

espm ; $F00000

[ di ri16, $01 . ESPM , RL:RO
out SPMCR r16 ;

espm ; ESPM Ri1:RO $FO0000
I di ri6, $05 ; ESPM
out SPMCR r16 ;
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AVR 4 — 87
espm ; ESPM $F00000
Words: 1 (2 bytes)
Cycles:
4.8.5 FMUL -
: 8 X8 ->16
Rd Rr Rl R
| Muliiplicand | = | Multiplier | I ProductHigh | Product Low
B B 16
(N.Q) N . Q .
(N1.Q1) (N2.Q2) ((N1+N2).(Q1+Q2)) :
(1.7) ; (2.14) .
= FMUL MUL o
Rd Rr , 6 7 « 16
14 15 \ R1( ) RO( )
(i} FH:F-!I.ZI = Ad = Ar {unsigned (1.15) « unsigned (1.7} = unsigned {1.7})
(i} FMUL Rd,Rr 16=d=<23 16=r=23 PC+—PC+1
16
I o040 I agil | 0ddd lrrr I
(SREG)
I T H s W M z »
I T - T -1 -T-T-T1-]
C: R16
15 1 1, -
Z: R15 -R14 -R13 -R12 -R11 -R10 -R9 -R8 -R7R6 R5R4 R3R2 -R1RO0
$0000 1. "
R( ) R1,RO0.
S 485ASM)
fmul r23,r22 ; r23 r22 (1.7) , (1.15)
movw r22,r0 ; r23:r22

Words: 1 (2 bytes)
Cycles: 2
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AVR 4 — 88
486 FMULS -
X 8 =8 216
Rd Rr R1 RO
I Multiplicand I * I Multipliar I I Product High | Product Low I
i 8 16
(N.Q) N . Q (N1.Q1)
(N2.Q2) ((N1+N2).(Q1+Q2)) . . (17)
. (2.19) . . FMULS
MULS a
Rd Rr , 6 7 . 16
14 15 \ R1( ) RO( )e
(i} R1 :I7:|D « FAd = Ar (signed (1.15) « signad (1.7) = signed {1.7})
(i} FMUL Rd,Rr 16=d=<23 16=r=23 PC«PC+1
16
I a4n I | 1d44d frrr I
(SREG)
I T H 5 W M z G
I I I I I R
C: R16
15 1 1. o
Z. R15-R14 -R13 ‘R12 -R11 -R10 -R9 -R8 -R7 R6 R5R4 R3 R2 -R1 R0
$0000 1,
R( ) R1,R0.
L 486.ASM)
fruls r23,r22 ; r23 r22 (1.7) , (1.15)
movw r22,r0 ; r23:.r22
Words: 1 (2 bytes)
Cycles: 2
48.7 FMULSU -
: 8 8 16 a
Rd Rr R RO
I Multiplicand I * I Multipliar I I Product High | Product Low I
& 8 16
(N.Q) N . Q (N1.Q1)
(N2.Q2) ((N1+N2).(Q1+Q2)) . , (1.7)
1 (2.14) o o
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AVR 4 — 89
FMULSU MULSU a Rd Rr
, 6 7 a Rd Rr
« 16 14 15 , R1(
RO( )a
(i} H1:R0 « Rd = Br (signed (1.15) « signed (1.7) = unsigned {1.7))
(i} FMULSU Rd,Rr 16=d=<23 16=r=23 PC+«PC+1
16
| DOGD | a011 | 1ddd irrr |
(SREG)
| T H 5 W M . i
=] I | I | = ] &7 =7
C: R16
15 1 1. a
Z R15-R14 -R13 -R12 -R11 -R10 -R9 -R8 -R7R6 R5 R4R3 R2 -R1 RO
$0000 1.
R( ) R1,RO.
o ( 487.ASM)
frmul SUr23,r22 ; r23 r2z2 (1.7) , (1.15)
movw r22,r0 ; r23.r22
Words: 1 (2 bytes)
Cycles: 2
488 MOVW -
X Rr+1:Rr ’
Rd+1:Rd Rr + 1:Rr

(i} R+ 1:Rd « Rr+1:Rr

16 :

(i} MOVW Rd,RAr de {0,2,...30}, re {0.2,....30} PC«—PC+1

| LOG0 | ag01 | AdAd | rrrr |

(SREG)
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AVR 4 — 90
o ( 488 ASM)
[ T H S v M 2 C
movw r 16, r0 ; ri:r0 ri7z:r16
call check ;
check: cpi ri6, $11 © 116 - $11
cpi ri7, $32 C 117 - $32
ret ;
Words: 1 (2 bytes)
Cycles: 1
489 MULS -
: 8 %8 =16
Rd Br 1 RO
I Multiplicand I X I Multipliar I -3 I Product High I Product Low I
8 8 16
Rd Rr = 16 R1 ( ) RO (
) o

(i} R1:A0 « Rd = Ar (signed « signed x signed)

(i} MULS Rd,Rr 16=d=31,16<r=31 PC—PC+1
16
I ] I aeis dddd ETCT l
(SREG)
| T H =1 W M Z c
- -1 -1 - [ -] -1=«71]¢®=|
C: R15
15 1 1, -
Z R15:-R14 -R13 -R12 -R11 -R10 -R9 -R8 -R7TR6 R5 R4R3 R2 -R1 RO
$0000 1,
R( ) R1,R0.
o 489.ASM)
mul's r21,r20 ; r21 r20
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AVR 4 — 91

movw r 20, r 0 ; r21:r20

Words: 1 (2 bytes)
Cycles: 2

4.8.10 MULSU -

8 #8 ->16 a
Rd Rr R1 Ro
I Multiplicand I X I Multipliar I -3 I Product High I Product Low I
2] g 16
Rd Rr a Rd , Rr - 16
R1 ( ) RO ( ) .
(i} R1:A0 « Rd = Ar (signed « signed = signed)
(i} MULSU Rd,Rr 165d<23, 161523 PCw—PC+1
16
| aouo | 0011 bddd trrr |
(SREG)
1 T H 5 W M 2z c
L= & = | = [ = T = [ & fomlom]
C: R15
15 1 1 “
Z R15-R14 -R13 -R12 -R11 -R10 -R9 -R8 -R7 R6 R5R4 R3 R2 -R1 RO
$0000 1, a
R( ) R1,RO.
( 4810.ASM)
mul su r21,r20 : r21 r20
movw r 20, r0 ; r21:r20
Words: 1 (2 bytes)
Cycles: 2
48.11 SPM -
:SPM 1 ': ):l
y Z a y Z » R1:RO
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AVR

4 — 92

()

(if)
(iii)
(iv)
)

(2) € $fif

(2)€R1L:RO
(2)¢R1L:RO
(2)<TEMP

BLBITS<R1:RO

16

+ R1:RO

T H

64K

(32K .

| di
clr
[ di
nov
| di
nov
| di
out
spm
[di ri16, $01
out SPMCR

spm

r 30
ri,

ro,
r16, $03
SPMCR,

Words: 1 (2 bytes)
Cycles:

4811 ASM)

r31, $FO ;

ri16, $CF ;
rle

rie, $FF

rlie

rle ;

rlé ;

SPM

$F000
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